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Examination Name |KVS PGT GEOGRAPHY

Exam Date & Time 18-02-2023 03:00:00

Subject : GE_QO01-Q10_PGTGEO
Question ID:- 181

Rearrange the parts in correct order to make a meaningtul sentence
(2) and broke its window pane

(b)  threw stones at it

(¢)  the urchins

() when the car passed by,

(1) (¢} (d) (b) (a)
(20 () (€] (b) (a)
(3} (b) (a) (0 (d)
(4 (@) (b) (¢) (d)

Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,

Answer Given:- 1, Option ID : -721
Question ID:- 182

Change the following sentence from Active Voice to Passive Voice.
Some local residents were helping the wounded soldier.

(1)  Some local residents were bemng helped by the Wounded soldier
(2)  The wounded soldier was helped by some local residents

(3} The wounded soldier was being helped by some local residents

L)

Options:-

.1, Option ID :- 725,

« 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,

Answer Given:- 3, Option ID : -727

Question ID:- 183

(4)  Help was being ¢given to the wounded soldier by some local residents.
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[l i the blank with the correct preposibon.

They ran the thief who had stolen their belongmgs.
(1) from
2y after
(3)  with
(4) in
Options:-

.1, Option ID :- 729,

« 2, Option ID :- 730,

. 3, Option ID :- 731,

. 4, Option ID :- 732,

Answer Given:- 2, Option ID : -730
Question ID:- 184

Choose the correct tense torm from the given options.
This was the first time the mighty king had lost a battle.
(1)  Past Indefinite

(2)  TPast Continuous

(3)  DPast Perfect

(4) Past Pertect Contnuous

Options:-

.1, Option ID :- 733,

« 2, Option ID :- 734,

. 3, Option ID :- 735,

« 4, Option ID :- 736,

Answer Given:- 4, Option ID : -736
Question ID:- 185

Change the following sentence from Direct Speech into Indirect Speech.

The youngman said to his parents, “You will have to adjust to the changing times’.

(1)  That they would have to adjust to the changing times the voungman told his parents.
(2)  The youngman told his parents that they must adjust to the changing times.

(3)  The youngman told his parents that they would have to adjust to the changing times.

(4 The voungman told his parents that he (the vouneman) would have to adjust to the changing
R ¥ I' o ¥ ] [ (ol
times.

Options:-

.1, Option ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,

Answer Given:- 4, Option ID : -740

Question ID:- 186
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[dentity the part which has an error in 1t.
From this place, / Meerut is / over ten miles / the shortest route

(1) (2) (3) (4)

Options:-

.1, Option ID :- 741,

« 2, Option ID :- 742,

. 3, Option ID :- 743,

. 4, Option ID :- 744,

Answer Given:- 3, Option ID : -743
Question ID:- 187

Choose the word nearest in meaning to the given word.
ABETMENT

(1) enmity

(2) assistance

(3)  revenge

(4) reaction

Options:-

.1, Option ID :- 745,

. 2, Option ID :- 746,

. 3, Option ID :- 747,

. 4, Option ID :- 748,

Answer Given:- 2, Option ID : =746
Question ID:- 188

Choose the word opposite in meaning to the given word.
SLOTHFUL

(1) healthy

(2) active

(3} intelligent

(4) indolent

Options:-

.1, Option ID :- 749,

« 2, Option ID :- 750,

. 3, Option ID :- 751,

. 4, Option ID :- 752,

Answer Given:- 2, Option ID : -750

Question ID:- 189
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Identity the part of speech of the given word.

Moderate tasting is good for health, so testity the medical experts.
(1) Pronoun

(2) Verb

(3)  Noun

(4} Conjunction

Options:-

.1, Option ID :- 753,

« 2, Option ID :- 754,

. 3, Option ID :- 755,

. 4, Option ID :- 756,

Answer Given:- 3, Option ID : -755
Question ID:- 190

Have you finished reading the book

What punctuation mark should be placed at the end of the sentence ?
(1)  Tull stop

(2)  Mark of interogation

(3)  Semi-colon

(4} Mark of Exclamation

Options:-

.1, Option ID :- 757,
. 2, Option ID :- 758,
« 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 2, Option ID : -758

Subject : GH_Q11-Q20_PGTGEO

Question ID:- 191

freferfaa w1 sAgeF dgel TAR A J99 1 Tl 39 a0

AT AAA T TR 1 T Hewm € 1 S A9 o U e 55 99 ° (R 509 ] Eie 9 TEe
T B0 39 1% H SRRl W A 1 991 @1 2 | TEETE W SEE ] 39 3UgE SUsiEal a5
=T T WA el & | 9 @ T8 w0l fava o faman ustEt w1 uga = |49 9w 7 ) fFmEe s
o epAaferd sAfaesma HerrrEl | 21 g0 < o Al J o Yed), cefifasa S aeeEn- w6 A | s
Fudia =7 § faae 4 dag f59 avE 1 gafa @ g7
(1) 3cdis 1 5iias d Jaol 26 (o i &l

(2) o= g0 39 A H SRR U = F

[

(3) a9 g e =

(4) Taam <= S 3 e o

Options:-
.1, Option ID :- 761,
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. 2, Option ID :- 762,
« 3, Option ID :- 763,
. 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192

feaferfiad Tty #1 AEYa® qgd SHI AT W9 1 el I alfe

FAET HHA H T w5 T HEes © ) 3SR 79 F Uw wgd g 94 H (w3 I mie ¥ TEd
T o e faerdl ) s 2 e =gl fove o fammm wsieE = aga =w 99 9fE ) faare s
= AT AR TR 0 E | G a0 & AT 5 9] e, TaAras A1 HHEE-TH R A 7 A
(1) =R feam =
(2) A W ST SHE 9% TeA o
(3)  faErt we 1 T g
(4) w1 T Hifd e o

Options:-

.1, Option ID :- 765,

. 2, Option ID :- 766,

. 3, Option ID :- 767,

. 4, Option ID :- 768,

Answer Given:- 2, Option ID : -766

Question ID:- 193

frafefEg Ty = oTATEE URat SHIY A 99 & TEl 399 g1
Ef 2 :

A AR T TR 1 A Hees € 1 ST A9 F U Sed 5 a9 ° (R 5o B TEe 9 TEe
=T T WA el & | 9 & T8 A0l fava § faman usiE w7 uga = |49 9w 7 ) e s
% ehidierd sfaendy Heril H 21 gl < o gl H o) Wedl, 2efifas o durem-usi o wreas 3 e
(1) w1t
(2) HITH
(3) TS
(4 wol fowe

Options:-

.1, Option ID :- 769,

. 2, Option ID :- 770,
. 3, Option ID :- 771,

« 4, Option ID :- 772,
Answer Given:- 4, Option ID : -772
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Question ID:- 194

T e 1 Y F Tgdd AT ST W99 1 Hel I8 aliou

A e G T w1 (9 HEes 2 | SUsiH o1 o Ueh ogd = a4 U (Rl $ed1g & |iied d ugel
T4 57 35F 91 H SHE A9 %3 &1 9909 @l ¢ | G J SeE F 39E S9EE S a6
AT 1 TR fredl 1 ama & T8l w9 fove o femmm wsiteE w5 aga a9 99 9 ) famrm vt
o ehiAierd HiHehdr HelwEl H 21 g1 Qi o a1sli J ol w2l oflfas sl spmm-usi o Jreae 3 g
TETS F A1 § (99 9T o fetetEd O 9w 9 9eTE A6 6 Y

(1) =T
(2) =
(3) elEs

(4) THMET T

Options:-

.1, Option ID :- 773,

. 2, Option ID :- 774,

« 3, Option ID :- 775,

. 4, Option ID :- 776,

Answer Given:- 1, Option ID : -773

Question ID:- 195

freaferfiad Tty #1 mEYa® qgd SH S q9 1 el I Al

A HHA  faae w5 a9 e § Ui 31 o U "ed = a9 | fRsEl 39rE ) |iiEy ¥ 1w
T o e faerd %) s 2 8 Sl feve o fammm v = aga =w 93 9fE ) faare s
& AT AT HE WO GG & AT H o e, Tefifas SR weEn-1s 6 e | e
(1) S9EF - =7
(2) Hiwa - Fierg
(3)  AlFRA - FHA
(4 -

Options:-

.1, Option ID :- 777,

. 2, Option ID :- 778,

. 3, Option ID :- 779,

« 4, Option ID :- 780,

Answer Given:- 4, Option ID : -780

Question ID:- 196
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P

[+

ferfaa | w5 774 2

(1) = H Ush g UeRl(vId 2 J1ell - anfties

(2)  HTEE T UF A7 THITEE B A - "rdresd
(3)  "ge oA o vk =R yskifyd gH aen - uifas
(4) TT@ H Uk AR UHIE B A - A
Options:-

.1, Option ID :- 781,

. 2, Option ID :- 782,

. 3, Option ID :- 783,

. 4, Option ID :- 784,

Answer Given:- 4, Option ID : -784

Question |D:- 197

~ o~

TeAferfEd U qe0y 9= A8 E

(1) =f=
(2) =
(3) T
(4) =7

Options:-

.1, Option ID :- 785,

. 2, Option ID :- 786,

. 3, Option ID :- 787,

. 4, Option ID :- 788,

Answer Given:- 4, Option ID : -788
Question ID:- 198

‘-349_51 e okl qqﬁ'q'ﬂ o Jle %f :

(Ly =4
(2) WU
(%) BH
(4) T
Options:-

.1, Option ID :- 789,

« 2, Option ID :- 790,

. 3, Option ID :- 791,

. 4, Option ID :- 792,

Answer Given:- 1, Option ID : -789

Question ID:- 199
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- o

TR 3 SR T T T

o)

(1)
(2) =R
(3) HH=
4 =
Options:-

.1, Option ID :- 793,

« 2, Option ID :- 794,

. 3, Option ID :- 795,

. 4, Option ID :- 796,

Answer Given:- 4, Option ID : -796

Question ID:- 200

‘e He e

(1) ¥+ a
(2) "+ W
(3) T+ 3E
(4)  HAH + FA
Options:-

.1, Option ID :- 797,
. 2, Option ID :- 798,
« 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 2, Option ID : -798

Subject : GA_Q21-Q30_PGTGEO

Question ID:- 201

Assertion (A) :

Reason (R) :

State can impose reasonable restriction on the exercise of right to freedom ot
speech and expression guaranteed by the Indian constitution.

Reasonable restriction cannot be imposed on right to freedom of speech and

expression in relation to contempt of court.

Choose the correct answer from the codes below

(1)
(2)
(3)
(4)

(A) is correct but (R) is wrong

Both {A) and (R) are correct and (R) explains (A)

Both (A) and {R) are correct but {R) does not explain (A)
Both (A) and (R} are wrong
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AfYRYT (A) :  TF, A % AEEE 59 TRAEA 91 FE s A F O AMER F 9ET W
e Feem o e

GENINE SIHAE ol STaHAAl ok HeAH H ars s 3 sifiesiad st 9 gfeadd
=1 Te0 T 2 H TR I H =AA B

(1) (A) 7@ & 317 (R) 7o ¢

(2)  (A) #E(R) &F1, 727 & 990 (R), (A) =l =7=A] 2

(3)  (A) S (R) &F1 Hal 2 159 (R), (A) I =571 781 3] ¢

(4)  (A) 3 (R) &l Terd &

Options:-

.1, Option ID :- 801,

« 2, Option ID :- 802,

. 3, Option ID :- 803,

. 4, Option ID :- 804,

Answer Given:- 1, Option ID : -801
Question ID:- 202

Which of the following statements is correct about the *Agile” approach to policy making ?
(1) Tt tollows a rigid up-tront plan tor implementation

(2)  Itdoes not use feedback loops

(3) It uses real-time adjustment

(4)  Itis the same as the 'watertall” framework to policy making

= o =1 JEE ' (TEEA) 95id % 9 | eEiatEa § 9 FE W FYA el 6 7
(1) 712 Taraa = o U iz, S0 IS 1 T 3l 2

(2)  TE FIEAE AT F TAN ] A B

(3) % TIeT-21EH HATISA W GAN A E

(4) Az Aifa FE ] SR A ggfa o AqqE e

Options:-

.1, Option ID :- 805,

. 2, Option ID :- 806,

. 3, Option ID :- 807,

. 4, Option ID :- 808,

Answer Given:- 3, Option ID : -807

Question ID:- 203
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Who had devised the policy called the ‘Doctrine of Lapse” in Colonial India ?
(1)  Lord Dalhousie

(2)  Lord Hastings

(3) Lord Cormmwallis

(4)  Lord Wellesley

(1) e zZed
(2) ofE 2
(3) @2 FrETe
() 2 Aol

Options:-

.1, Option ID :- 809,

. 2, Option ID :- 810,

. 3, Option ID :- 811,

. 4, Option ID :- 812,

Answer Given:- 1, Option ID : -809

Question ID:- 204

Which of the tollowing is the tinest iron ore with high content of iron upto 70% ?
(1)  Hematite

(2)  Magnetite

(3)  Mica

(4) Cobalt

~

FAfEd W H I wlE A I H 2 TS 70 Ui a9 wire urE S g

(1) 2HREEe
(2)  HERERED
(3)  HIF
(4) FETE
Options:-

.1, Option ID :- 813,

. 2, Option ID :- 814,

. 3, Option ID :- 815,

. 4, Option ID :- 816,

Answer Given:- 2, Option ID : -814

Question ID:- 205
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Which among the tollowing was the earliest arms control treaty which banned nuclear weapon
tests in the outer space and under water ?

(1)  Nuclear Non-Proliferation Treaty

(2} Limited Test Ban Treaty

(3)  Strategic Arms Limitation Talks I

(4)  Comprehensive Nuclear Test Ban Treaty

Fefertaa § 5 weet o == =5 m o1 o 9 Jed st 7 O F 7 1] EeEn wam w
EIGEIECRER IR I

(1) WA S{HHR HH

(2) it wam wlass \ie

(3) Tl 2feEn S =90

(4)  =ATIH ] A gfaad Ay

Options:-

.1, Option ID :- 817,

. 2, Option ID :- 818,

. 3, Option ID :- 819,

. 4, Option ID :- 820,

Answer Given:- 1, Option ID : -817
Question ID:- 206

Which of the following units makes Cellulose ?
(1)  Tructose
(2)  Glucose
(3)  Sucrose

(4 Ribose

fr=ferfaa ¥ 9 21 o 398 | geens &1 fmio g g 7

(1) s
(2)  Tef
() TE
(4) W=
Options:-

.1, Option ID :- 821,

. 2, Option ID :- 822,

« 3, Option ID :- 823,

. 4, Option ID :- 824,

Answer Given:- 2, Option ID : -822

Question |ID:- 207
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Which of the tollowing are Oviparous animals ?
(1)  Hen and Cat

(2) Cat and Dog

(3} Crow and Dog

(4)  Hen and Crow

fr=farfaa § 9 &0 9 09 HA=deE 27
(1) T iR fawet
(2)  Teoedl =i g
(3)  FE R FA
(4) AT 2 el

Options:-
.1, Option ID :- 825,
. 2, Option ID :- 826,
. 3, Option ID :- 827,
. 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828
Question ID:- 208
Who among the tollowing plavers won the FIFA World Cup 2022, Young Player of the Tournament’
award ?
(1)  Kylhan Mbappe
(2} Alexis Mac Allister
(3)  Rodrigo De Paul

(4)  Enzo Fernander

I FTE F, 2022 H AR S 5 ZAH e 6 fgens 1 s

(1)  #FAferT 7ary

2y TEEEE T ufey
(3)  Ifgan =T O

(4) U FAEA
Options:-

.1, Option ID :- 829,

. 2, Option ID :- 830,

. 3, Option ID :- 831,

. 4, Option ID :- 832,

Answer Given:- 4, Option ID : -832

Question ID:- 209
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Who among the tollowing authors won the "Sahitya Akademi Yuva Puraskar® 2022 in Sanskrit,
language 7

(1)  Madhusudan Mishr

(2} Pankaj Kumar Jha

(3)  Shruti Prasad Kanitkar

(4)  Shubrajt Sen

T W H HifEE s ga1 TR, 2022 fAetatEd ¥ 3 oig® F1 Hen ?
(1) W Ay

(2) S FHE A

(3)  4fd aHE s

(4) Y T

Options:-

.1, Option ID :- 833,

. 2, Option ID :- 834,

. 3, Option ID :- 835,

. 4, Option ID :- 836,

Answer Given:- 1, Option ID : -833
Question ID:- 210

Match the terms given in List - T with their nature/use in List - 11

List - I List - II
(A) USD (I)  Enables user to access programs on a computer through immage objects
that are linked to the programs
(B) GUI (I1) A ftile format used for compressed image files
(C) GIF (I11) A software designed to take a scanned text as input and convert it

mto its ASCII coded equivalent
(D) OCR (IV) Connects peripherals in which data is transmitted serially
Select the correct answer using the codes given below :
(1) (*”‘x -(I). ( )*( ). (C)-(H), (D)-(IV)
(2) (AN, B)-(, b (C )(l\) D)-(T)
(3 (A ) 13) (IV), (O)-(), (D)- (If)
(4 (AR(IV), (B)T), (L) (1), (D)-(1)
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T -1 H feu 0 wel % gEi-11, 1 50 T 39 9 vam 1 fven F=5 e

= - T -1
(Ay FTAA (1) a7 1 AT W T sfeeas o WEAT W HEAS T U & TR
HT A A B
(B) it g A (1) shrdee g wigedl o fofu U= udh wiged HIHe
(C) St = Tk (111) TRl T ToRT 0 2 ) ST FEEET oid g1 3iR 39 396 ASCII ®IfET
A | "aeT e JATl T HIEA
(D) =71 =1 &I (IVy  UFRaE 1 Sirean & T 2 #its =0 9 Zimme 2 e

(1 (A)(I), (B)-(IL), (C)-(1IL), (D)-(IV)
(2) (AL, (By-(lID, (C }~{n-’) (D)1
(3) (AT, (B)-(IV), (CO)-(I), (D)-(ID)

() (AR(IV) (B)-(), (C)- (“ (D)-(1L0)

Options:-

.1, Option ID :- 837,
. 2, Option ID :- 838,
« 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 4, Option ID : -840

Subject : RA_Q31-Q35_PGTGEOQO
Question ID:- 211

Choose the correct alternative that will confinue the same pattern and replace the question mark
(?) in the given number series.

i, 24, 60, 120, 210, ?

(1) 330
(2) 336
(3) 366
(4) 396

UH WE! fahed &1 =97 i A G0 T A Aigen | 361 92w 9E T SR 99 e () 9 W o
6, 24, 60, 120, 210, ?

(1) 330
(2) 336
(3) 3606
(4 3596
Options:-

.1, Option ID :- 841,
« 2, Option ID :- 842,
. 3, Option ID :- 843,

. 4, Option ID :- 844,
Answer Given:- 2, Option ID : -842
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Question ID:- 212

Nine books are kept one over the other. Counting from the bottom, the third and seventh books
are Text Books. Two books of General Awareness are below a story book. One book on plavs 18
above the Text Book and another book on plays is below the Text Book. One book on poetry 1s
above the book on plays while the other book on poetry is below the book on plays. Which book is
tifth from the bottom ?

(1) Poetry Book

(2} Plays Book

(3)  Story Book

(4)  General Awareness Book

A Tk FEMl B PAF ok A F | 2w ®l T [HE EATAE F H © AN AeE Fl T JEE
TEAPEF & A9 # | HEA Uk A A2E F R G S 8 Adih Hiadl i gHy [ A2
a& PJJ%-‘H%%I HI "::l:l :l.-!ﬂrj jlﬁii: Eﬁﬂm%?

(1) A =l 7=

(2) T T qEE

(3) el & THEE
(4)  HTHFI S E R

Options:-

.1, Option ID :- 845,
. 2, Option ID :- 846,
. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 4, Option ID : -848

Question ID:- 213

It ‘North-East” 1s called "West’, “South-East’ 15 called "Northt', ‘South-West” 15 called "Last’ and
‘North-West” is called "South’. What will "East’ be called ?

(1) North-West

(2) North-East

(3} South-West

(4) South-Last

(1) Z-viegd
(2) T
(3) =fu-gfeam
(4) =g
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Options:-

.1, Option ID :- 849,

. 2, Option ID :- 850,

« 3, Option ID :- 851,

. 4, Option ID :- 852,

Answer Given:- 3, Option ID : -851

Question ID:- 214

A question 1s given below followed by two statements numbered I and I each containing some

information. Decide which of the statements are sufficient to answer the question ?

Q. Rohan is in which direction with respect to Pankay ?

Statement I:  Rohan is to the South of Tanya who is to the East of Dolly.

Statement Il :  Pankaj is to the East of Tanya.

(1)  The statement I alone is sufticient to answer the question while the statement II alone is not
sufficient to answer.

(2} The statement I alone is sufficient to answer the question while the statement [ alone is not
sufticient to answer.

(3} Both statements Tand Il together are necessary to answer the question.

(4)  Both statements I and I1 together are not sutficient to answer.

A= uE W fe e © fE A wye-1 s 11 fen T © SEH v | s SRR AT § 1 A AvE

FITAT FF F1 9UH F99 T F IR 27 F o w5 2

HAA 1 A, a0 F e i F S R el Fgd o g

HYA N : TR, T E T

(1) TFel -1 8 WoA 1 390 57 o (000 97 & ST sehe] e - L T %1 IR 24 F fo i
Zl

(2)  =Fel FEA-1 E U9 & ST o4 o o T € TaE Aol SeA-1 U9 & 3T oA F (o T T8

|

ol

(3)  FHA-1 2R FEE-1L, =, T Oe 99 #5954 o T sTava €

() A1 AR w1, 2 A TR O W #1329 o T e el E

Options:-

.1, Option ID :- 853,

« 2, Option ID :- 854,

. 3, Option ID :- 855,

. 4, Option ID :- 856,

Answer Given:- 3, Option ID : -855

Question ID:- 215
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In the tollowing tigure, triangle represents men, circle represents post-graduates and square
represents sub-inspectors of police.

Which number represents female post - graduates, sub-mspectors of police ?

e

(2} 8

(3 o

(4 12

freAferfiera amefa o s qodl 1. 99 Fras =R &1, a9 o1 Jior & Jh-2HF F 590 © |

F1 [ W= Oiee FaER ol J9-2WaE2d F a9 @ 2
(1 5

(2) 8

(3) 9

(4 12

Options:-

.1, Option ID :- 857,
. 2, Option ID :- 858,
« 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 4, Option ID : -860

Subject : CL_Q36-Q40_PGTGEO
Question ID:- 216

The following is not by detault installed with MS Windows.
(1) M5 Paint

(2) Notepad

(3 Clock

(4 MS PowerlPoint

pgtprime.com



ffefes o 7 70wy e 92 O =0 (96 fTwme) s=m T e e ?

(1) THUTAT

(2) =TT

(3) Tk

(4) UH UH qETEEs
Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
. 3, Option ID :- 863,

. 4, Option ID :- 864,
Answer Given:- 1, Option ID : -861

Question ID:- 217

15 not a basic funcion of MS Excel.

(1)
(2)
(3
(4)

count()
sumy()
max()

addition()

TH T TH{E I gan B e 6

count()
sum()
max()
addition()

Options:-

.1, Option ID :- 865,
. 2, Option ID :- 866,
. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

Which of the f{&]l(m’ing is true about cell range in MS Lxcel ?

(1)
(2)
(3)

Collection of chosen cells
Collection of tormula
Collection of values

Collection of occupied cells
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freferfam # % T8 TH v 99 IS o A H o e E
(1) =7 g0 A 1 HIE

(2) I T HTE

(3) S I

(4) 9 gU (TEEEES) Hell &1 Huw

Options:-

.1, Option ID :- 869,

« 2, Option ID :- 870,

. 3, Option ID :- 871,

. 4, Option ID :- 872,

Answer Given:- 3, Option ID : -871
Question ID:- 219

Which of the following cannot be reported as Cyber Crime ?

(1)  Threatening someone on social media platform

{2)  Thett of a brand new hard disk from a showroom

(3)  Sharing of pornographic content online

(4) Lntering in someone’s onlme bank account and transferring money from there without
his/her consent

~ o~

TefefEd 5 F 9 9Ea A9 F B9 H o9 A8l HOE 5 Hhal € 2

(1) = Hifean wizws 7 1 SH0HE
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Options:-

.1, Option ID :- 873,

. 2, Option ID :- 874,

« 3, Option ID :- 875,

. 4, Option ID :- 876,

Answer Given:- 2, Option ID : -874
Question ID:- 220

What does 's” stand tor in hittps ?
(1) Secure

(2)  Security

(3)  Stream

(4 Space
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Options:-

.1, Option ID :- 877,
« 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 1, Option ID : -877

Subject : UL_Q41-Q55_PGTGEO
Question ID:- 221

The proximodistal principle states that development of the body proceeds from :
(1) head to legs

(2)  legs to head

(3)  outward to the center of the body

(4)  the center of the body cutward

TEET =R g A "am € v # f9es F HE H IFE &AM @
(y fEad
(2) A

(3) @ | N & HeE Al SR

(4) IERF T H T E AR

Options:-

.1, Option ID :- 881,

. 2, Option ID :- 882,

. 3, Option ID :- 883,

« 4, Option ID :- 884,

Answer Given:- 1, Option ID : -881
Question ID:- 222

Adam’s apple is -

(1)  an endocrine gland that releases hormones.

(2)  the embryonic outgrowth during prenatal stage.
(3)  the protruding part of throat of male adolescents.

(4) the protruding part of throat of temale adolescents.
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Options:-
.1, Option ID :- 885,
. 2, Option ID :- 886,
. 3, Option ID :- 887,
. 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887
Question ID:- 223
No one taught a & months old child to crawl. But one day, the child started crawling. On the part
of the child, it shows his/ler :
(1)  growth
(2)  development
(3)  maturation

(4) morphogenesis

8 HIg = =T &1 1T 12 a1 19 ¢ | fohe U 83 =eten 3900 9% &1 <1 2| FTeted &l A1 H 98 39/
TF F1 T T

(1 3

(2) TE=m

(3)  ufigsEs

(4)  HIHT-faeR™
Options:-

.1, Option ID :- 889,

. 2, Option ID :- 890,

. 3, Option ID :- 891,

« 4, Option ID :- 892,

Answer Given:- 2, Option ID : -890
Question ID:- 224

Which one of the following is the correct option ?

(1) Development and growth are the process and product of maturity.
(2} Development and maturity are the process and product of growth.
(3)  Growth and maturity are the process and product of development.

(4)  Progress and maturity are the process and product of development.
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Options:-
.1, Option ID :- 893,
. 2, Option ID :- 894,
. 3, Option ID :- 895,
. 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895
Question ID:- 225
On the part of an individual, the acquisition of values, which the societv expects to imbibe and
practice, 1s known as his/her :
(1)  social development
(2} moral development
(3)  emotional development

(4) spiritual development

Tl =t =1 0§ 39 GeAl 1 HAiod FA, TS0 JHs T80 F39 a9 | F1 790 ] 8, S5
AT STl 2 |

(1) HHTSF TR
(2 ifasw e

(3) AT TR
(4) Ao fawm

Options:-

.1, Option ID :- 897,

. 2, Option ID :- 898,

. 3, Option ID :- 899,

. 4, Option ID :- 200,

Answer Given:- 1, Option ID : -897

Question ID:- 226
In class VIIT Mathematics, the concept ‘Simple Interest’ is taught first and then the concept
‘Compound Interest’ 1s taught. This is in accordance to the :
(1)  Cognitive development of the students
(2} Physical development ot the students
(3)  Social development of the students

(4)  Moral development of the students
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Options:-

.1, Option ID :- 901,
. 2, Option ID :- 902,
« 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 1, Option ID : -901

Question |ID:- 227

In human intants, in comparison to total body length the head constitutes :

(1)

(2)

o ol H, RN T Tl AAE i ded o HL R 9 2 E

(1)

13 | —

a2 |

wl e

1| —

| =

e | —

=

Options:-

.1, Option ID :- 905,
. 2, Option ID :- 206,
. 3, Option ID :- 907,

. 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228
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The infants show general excitement to strong stimulation. This is the sign ot their :

(1)  metacognitive skills
(2)  cognitive growth
(3)  emotional behaviour

(4 socalization

T Tae] F2199 o 9fd JH= 39 e 21 98 55E 1 THomT 2

(1) & [FARHF (W BAETH ) FI9
(2) HIATEF T

(3) TSR FTIRN
(4)  HHTEHI

Options:-

.1, Option ID :- 909,

. 2, Option ID :- 910,

« 3, Option ID :- 911,

. 4, Option ID :- 912,

Answer Given:- 1, Option ID : -909

Question ID:- 229

With respect to adolescents, which one of the tollowing is a correct statement ?
(1) Their spiritual development is more visible than physical development.
(2)  Thew cognitive development is more visible than physical development.
(3} Their cognitive development is more visible than social development.

(4)  Their physical development 18 more visible than cognitive development.

Foil & o . Famtintr 4 8 o 1 oo 1 7

(1) o famm =i w70 37 et fawm sifaw foms <m 7
(2)  WRIF faerm =l =A0en 37 Hareas e e fomr 2qr 2|
(3)y  Hrifeer foem w1 sTiaT 3% HarenE faem At fome ga 2

(4)  HAFTRHE TTEE S SH] TR A e feEre aq 2

Options:-

.1, Option ID :- 913,

. 2, Option ID :- 914,

« 3, Option ID :- 915,

. 4, Option ID :- 916,

Answer Given:- 4, Option ID : -916

Question ID:- 230
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In case of adolescents, the inter personal and intra personal growth patterns show their
(1)  cognitive development and social development respectively.

(2)  moral development and social development respectively.

(3} emotional development and moral development respectively.

(4 social development and cognitive development respectively.

opeiTil 37 TR #, S-SR S S-SR 3t S 1 =

(1)  AYL FAFETEF foshm aur Jser faem

(2) HHW: AfaE FEE 99 JEeE [T

.ar

(3)  HHE: HATE s du Afaw faws

(4)  HHY: AHITSE [TFE T2 FAoRF [T

Options:-

.1, Option ID :- 917,

. 2, Option ID :- 918,

« 3, Option ID :- 919,

. 4, Option ID :- 920,

Answer Given:- 1, Option ID : -917
Question ID:- 231

In language class of adolescent students the teacher uses an English idiom "A Leopard can’t change
his spots’ Whn h means “a persen cannot change his/her bcl':LL nature’. The teacher thinks that :

(1) Students cannot understand it as adolescence 1s a stage where only concrete thinking
dominates.

(2} Students may mmagine the mpossible as they have developed abstract thinking so they can
understand it.

(3)  Students may understand it as thev can use symbolic thinking to derive its meaning,.

(4)  Students cannot understand it as their critical thinking proves that in reality the idiom and
it's meaning don’'t synchrenize.

TR = =1 oy & R o AT T SUST & ‘j)?'ﬂ':#l ‘A Leopard can’t chunge his spot” = T

Fral & T wd § FF ‘o =t st g wta w1 T8 gwa e 8 s gw A ©
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(2) foendl s i FeT H FEd © T ST ST (9 9 Hd 2 A § TR 9 29 T TR
Zl

(3)  Taenedl =5 Fme WFd © F0F 9 79 379 e F O e = A R S €

(1) Teenedl e 421 wHe wed @ il Seh1 ST fedad =2 [Hg &3l 2 fo ardfasgal § qzE R
S A TR AH e ¢ |

Options:-
.1, Option ID :- 921,
. 2, Option ID :- 922,

pgtprime.com



« 3, Option ID :- 923,

. 4, Option ID :- 924,

Answer Given:- 2, Option ID : -922
Question |D:- 232

The term ‘society” is rooted in the word “societas” which is a/an :
(1) Atrican word

(2) Chineese word

(3)  Greek word

(4 Latin word

‘IO I A S HEELA e W g3 © S U 7
(1) STF o=

(2) = =

(3)  TF wT=

(4) wfe o=

Options:-

.1, Option ID :- 925,

. 2, Option ID :- 926,

. 3, Option ID :- 927,

. 4, Option ID :- 928,

Answer Given:- 4, Option ID : -928
Question ID:- 233

Who defined the word ‘community® as a group established by men having shared values ?
(1)  Comte

(2)  Marx

(3} Anstotle

(4 Durkheim

- -

for Aer | wiee &1 HE godl ol Al g1 Friad U w9 F w9 5 qiea fe 2

(1y =RTHZ
(2y AT
(3) o
(—l-} = \”.r
Options:-

.1, Option ID :- 929,
. 2, Option ID :- 930,
. 3, Option ID :- 931,

. 4, Option ID :- 932,
Answer Given:- 1, Option ID : -929
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Question ID:- 234

In the context of socialization, which one of the tollowing is the most appropriately correct
statement ?

(1) In some cultures, secondary socialization mav precede primary socialization.

(2)  Primary socialization and secondary socialization run parallel to cach other.

(3)  Secondary socialization takes place only after primary socialization.

(4)  Primary socialization and secondary socialization follow an entirely ditferent trajectory.

HHEF F Ted |, FefatEd 5 9 559 @ 59T T9i5E T8l e

(1) o FeFiaa #, f5ar=s A, WaiEF FmsFo 9 986 A6 9

(2)  wnAfAe TSI S GATTE AT UF S W% HEAR gl |
(3)  Taelrrer [T FEa mUfHE JEsTE F o9 26 |
(4) Wt HAETSE ST TEdEE AT o T T AT I ©

Options:-

.1, Option ID :- 933,

. 2, Option ID :- 934,

. 3, Option ID :- 935,

« 4, Option ID :- 936,

Answer Given:- 2, Option ID : -934
Question ID:- 235

The adverse situations like COVID-19 pandemic have led to the :
(1)  increase in enrolment in tormal education.

(2)  increase in home schooling,

(3)  decrease n enrolment m non-formal education.

(4)  increase m brain dramn.

FTZ-10 WEMH S AfaEe et 3w
(1y oo foren o Angiena o gfg &)

(2) =R H "9RE I (B i) H 905 g
(3) s o Amisa o fivme o |

)t e gt

Options:-

.1, Option ID :- 937,
. 2, Option ID :- 938,
. 3, Option ID :- 939,

« 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938

Subject : UTL_Q56-Q70_PGTGEO
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Question ID:- 236

Why is curriculum important for the teachers ?

(1)  Lstablishes responsibilities and accountability

(2)  Acts as a control device

(3)  Develops understanding about preservation of environment

(4 Indicates how the external sources should be utilized for the benefits of the students

TE= S o T qeeyol #2172

(1) 7% f9Er! 31 SaEee Ta Hdt €
(2)  WF TR SUEAw w9 H w5 whr
(3)

)
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Options:-

.1, Option ID :- 941,

. 2, Option ID :- 942,

. 3, Option ID :- 943,

« 4, Option ID :- 944,

Answer Given:- 4, Option ID : -944
Question ID:- 237

Which one of the tollowing may not be an important principle of curriculum organisation ?
(1)  DPrinciple of child centeredness

(2)  Principle of creativity

(3)  Principle of self learning,

(4)  Principle of tlexibility

fAfatEd ° H =4 91 9ed=4] | TF Tedyy Aar 2 © ¢

(1)  =-hi=d = fag
(2)  HaAAleHEA &l (55
(3) -3 e

(4) =T # TEg

Options:-

.1, Option ID :- 945,

. 2, Option ID :- 946,

. 3, Option ID :- 947,

« 4, Option ID :- 948,

Answer Given:- 3, Option ID : =947

Question |D:- 238
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Which one of the tollowing is not an element of experiential learning cycle ?
(1)  Concrete experience

(2) Reflective observation

(3} Critical analysis

(4)  Achve experimentation

frefarfaa § 9 #0 sFveTs A9TH =56 F1 T 37 T8 87
(1) TeI&l #9d

(2)  Tawers HeeEa

(3)  ATETEAeTE faverm

(4)  Toramers® gEm

Options:-

.1, Option ID :- 949,

. 2, Option ID :- 950,

« 3, Option ID :- 951,

. 4, Option ID :- 952,

Answer Given:- 3, Option ID : -951
Question ID:- 239

Which one of the following may not be accomplished by students through “self assessient” ?
(1) Reflection on their own learning

(2)  Consolidation of thewr learning through dialogue

(3)  Skills in meta cognition

(4)  Identification of the areas of their strength and of those need improvement

B B0 AR F WEEE W 1 e e e S wea © 7
(1) =4 & sifarm | afEa

(2)  HaAE % Hi=Aq | AT Al ] Hafed s

(3)  HU-HFA (HIA-FRIALA ) T B

(4)  FT WEE U AT & A TR AR A2 A TS g R sEee 2
Options:-

.1, Option ID :- 953,

. 2, Option ID :- 954,

. 3, Option ID :- 955,

. 4, Option ID :- 956,

Answer Given:- 2, Option ID : -954

Question ID:- 240
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Which one ot the tollowing is not an advantage of using textbook in classroom teaching learning
process ?

(1) A wseful teaching aid in the hands of a teachers
(2)  Encourages convergent thunking among learners through its chapters and exercises
(3)  P'rovides guidelines tor students evaluation

(4)  Help teachers to maintain logical reference of content matter

orror- a7femme gie=n o =en § T2 I5E 1 990 H R H UE A el © 2

(1) AT = 219 H UF 8 9180 HerEs qm

(2)  EE & ST ST - A & Wean § AR sl e A e 2| 2
(3) T F YoAiEA & o w-Fee gwm #a g

(4)  F=ATF = fawEEs & difwd e 1 F9 TEA H ST ) o

Options:-

.1, Option ID :- 957,

. 2, Option ID :- 958,

. 3, Option ID :- 959,

. 4, Option ID :- 960,

Answer Given:- 3, Option ID : -959
Question ID:- 241

Which ene of the following may not be considered as a main characteristic of multimedia system?
(1) Social Toating

(2)  Can be used as an interactive device

(3)  Requires judiciously plammed usage

(4)  Sharpens skills in problem selving and decision making areas

FeAferfad o o o Heal Hifeal Toe! &1 U A Serdal 7@l 91 =71 S ¢ 7

(1) H=rIfSF wePEaE]

(2)  TH U GHEE A S0 F Y O S9E R A WA

(3)  THF TN F foA0 ey =S F6 A gl §

Options:-

.1, Option ID :- 961,

« 2, Option ID :- 962,

. 3, Option ID :- 963,

. 4, Option ID :- 964,

Answer Given:- 1, Option ID : =961

Question |D:- 242
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Which of the following is an incorrect statement ?

(1) DIxtended response type item is an essay type tem.

(2} In multiple choice item the mcorrect option are known as distracters.

(3)  Objective tvpe of item are more preferable in measuring the creative ability of students.

(4)  Matching type of item is a form of multiple choice type.

frferfaa ¥ 9 9 W Fum we 18 5 7

(1 Tawfm ufafwards uee o Feaees 7v & 2|
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Options:-

.1, Option ID :- 965,

. 2, Option ID :- 966,

. 3, Option ID :- 967,

. 4, Option ID :- 968,

Answer Given:- 3, Option ID : -967
Question ID:- 243

Which of the tollowing is not a difticulty associated with group learning ?
(1) Absence systematic approach to work

(2)  Easy identitication and correction of errors

(3)  Lack ot adequate coordination.ameong participants

(4)  Pressures on individual learners to.conform on the issue having discussed in the group

freferfea o 3 1 Ay s A 52 T HiaAs =@ g0
(1) M % dia =aaferm S & A
(2)  TreAlddl i A 9B HE SHH gHR

(3)  ufawfEl & == 9@ g w5 oaaE

(4)  dqe T =9l fru om 3ot fauy o ey safadird sifammsdia @ g

Options:-

.1, Option ID :- 969,

. 2, Option ID :- 970,

. 3, Option ID :- 971,

. 4, Option ID :- 972,

Answer Given:- 2, Option ID : -970

Question ID:- 244

pgtprime.com



Which one is not a role of the teachers in construction of knowledge of students ?

(1)  Allowing students to ask questions and encouraging them to raise intelligent questions
(2)  Discouraging selt analysis and self assessment

(3) Tostering reflechve practice

(4)  Supporting cooperative and collaborative learning in the classroom

foreqfel=i & 30 fmim o s =7 o # W = 2 7

(1) =El F 999 T4 ®1 A9 <71 HH 5% Figmargul U T2 & 60 Jeied &
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(3)  Tomele o 1 dredfea e
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Options:-

.1, Option ID :- 973,

. 2, Option ID :- 974,

. 3, Option ID :- 975,

. 4, Option ID :- 976,

Answer Given:- 2, Option ID : -974
Question ID:- 245

‘Learner centered approach’ is not characterized by
(1) Learning by doing

(2)  DBoth individual and group learning

(3} Learning and memorization of textual questions

(4 Democratic classtoom environments

* sgferTeRTT RS SUTTH I U G996l ©

(1) Fh HE

(%) orTe fEuas T A 9o 3 wew
)

“RET] whI ATl A AT

Options:-

.1, Option ID :- 977,

. 2, Option ID :- 978,

. 3, Option ID :- 979,

. 4, Option ID :- 980,

Answer Given:- 3, Option ID : -979

Question ID:- 246
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In a teauhing learning situation tour stages are being tollowed -

1.
3

]

4.

[dentitication of problems
Lxperimentation and observation
Problem solving

Evaluation

Which of the following method is being applied ?

(1)
(2)
(3)
(4)

Project Method
Problem solving Method
Discovery Method

Inductive Method

e e srfermy frefa o =m =0 & e @ E

1.
2.

-
5l

4.

T ] TEEA
T HETETA
e
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(1)
(2)
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(4)

TfE At
- FHEA faly
= fafy
AT fafy

Options:-

.1, Option ID :- 981,
« 2, Option ID :- 982,
. 3, Option ID :- 983,

. 4, Option ID :- 984,
Answer Given:- 2, Option ID : -982

Question ID:- 247

Which of the tollowing is not a strength of porttolio ?

(1)

d 12
—

A_ﬁ.q.
= L
Nl

Development of skill amoeng students i evaluating the strength and weakness of their own
work

Creates opportunity to collaborate and retlect on students progress.

Parents have rare opportunity to assess the performance of their children .

Helps students to take responsibility for sethine coals and evaluatine their prooress
. [ ¥ Ll
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Options:-

.1, Option ID :- 985,

« 2, Option ID :- 986,

. 3, Option ID :- 987,

. 4, Option ID :- 988,

Answer Given:- 2, Option ID : -986
Question ID:- 248

Role of teacher in “trans disciplinary integration’ is that ot a :
(1) Co-learner

(2) TFacilitator

(3)  Specialist

(4 Generalist

- Tt WA W SIETE R e cal A
(1)  HE- e

(2)  HEEH

(3) faome

(4) AR CotAufen2)

Options:-

.1, Option ID :- 989,

. 2, Option ID :- 990,

. 3, Option ID :- 991,

. 4, Option ID :- 992,

Answer Given:- 2, Option ID : -990
Question ID:- 249

What should be the basic determinant ot a good classroom discussion ?
(1)  Skill of the teacher’s

(2)  Teacher's mastery our the topic

(3} Content being discussed

(4)  Unity of purpose and mterest in the class
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Options:-

.1, Option ID :- 993,

« 2, Option ID :- 994,

. 3, Option ID :- 995,

. 4, Option ID :- 996,

Answer Given:- 4, Option ID : -996
Question ID:- 250

Objectives of education are not helprul in :
(1)  Understanding child development
(2)  Selecting instructional materials

(3)  Designing learning experience

(4} Preparing evaluation tools

foren & =293 ANETEE TR A B
(1)  dledsh & fass dgHze H

(2)  FEETCHE AU F FEE F

(%) AR YE F FAEE] AN FE

(4) TEEFA ST GAN F |

Options:-

.1, Option ID :- 997,
. 2, Option ID :- 998,
. 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 4, Option ID : -1000

Subject : CCLE SOL PE_Q71-Q80_PGTGEO
Question |1D:- 251

In modern context the best mental health of students and teachers can be ensured by :
(1)  Yogasana and Pranavam

(2) Physiotheraphy

(3 Mathematical and mental exercises

(4 Organizing social gatherings
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Options:-

.1, Option ID :- 1001,

. 2, Option ID :- 1002,

. 3, Option ID :- 1003,

. 4, Option ID :- 1004,

Answer Given:- 1, Option ID : -1001
Question ID:- 252

The right of persons with disability Act came in which vear ?

(1) 2014
(2) 2010
(3) 2018
(4) 2020

E2 TR WA faw fEaufat@el v e ad | R Y

(1y 2014
(2) 2016
(3) 2018
(4) 2020
Options:-

.1, Option ID :- 1005,

. 2, Option ID :- 1006,

. 3, Option ID :- 1007,

. 4, Option ID :- 1008,

Answer Given:- 1, Option ID : -1005

Question ID:- 253

In terms of education progress which one of the rollowing groups is the largest ?
(1) Tribals

(2)  Schedule castes

(3)  Slum dwellers

(4) Guls
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Options:-

.1, Option ID :- 1009,

. 2, Option ID :- 1010,

. 3, Option ID :- 1011,

. 4, Option ID :- 1012,

Answer Given:- 4, Option ID : -1012
Question ID:- 254

Which one ot the following can be easily handled by school teachers ?
(1)  Autbstic child

(2) A child with an 1Q of 72

(3) A child with dyvscalculia

(4) A psychotic child

=1 5 O FE-T U, s 501 ST F e 1 e | 2
(1) U =ed "
(2) U= 72 "G @ HE (1Q) A "k

~
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Options:-

.1, Option ID :- 1013,

. 2, Option ID :- 1014,

. 3, Option ID :- 1015,

. 4, Option ID :- 1016,

Answer Given:- 2, Option ID : -1014
Question ID:- 255

Amony, the following options, which one is easier for a school seeking partnership

(1)  Neighbormg schools

(2)  Industry
(3)  Parents and community
(4)  Adjoming government offices

?
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TRIER! o TogF Uk W6 o 7 1 H TA-H1 UF fGahed 379 2 7
(1) T =

(2)  FE

(3)  HAT99EE T FHE

(4)  THeheadi ANl S

Options:-

.1, Option ID :- 1017,

. 2, Option ID :- 1018,

. 3, Option ID :- 1019,

. 4, Option ID :- 1020,

Answer Given:- 3, Option ID : -1019
Question ID:- 256

Hirher education institutions can develop the best parmership with schools by
(1) training school teachers.

(2)  organizing competency based activities for school teachers.

(3)  sharing their physical and human resources.

(4)  selecting best students from schools and giving them advanced learning material.

== For T, e WY TAAS e 9w WA E 7
) TR AT F1 gimem fe
2) TR SATIE o TAT STE At S B
)
)

A0 iR 3T Tfas |91 9T RR
Thel 9 Hdgt2 foenfe=i = siedr, 3= 3= sy wml g

Options:-

.1, Option ID :- 1021,

. 2, Option ID :- 1022,

. 3, Option ID :- 1023,

. 4, Option ID :- 1024,

Answer Given:- 1, Option ID : -1021

Question ID:- 257

Which one of the tollowing can best develop the spirit of enquiry and awareness among learners at
secondary school level 7
(1} Parent teacher associations
(2)  In service programmes for teachers
(3)  Hobby clubs

(4)  Long duration science experiments
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T e T W STHEAIE H 9 ges UF SEdl i ME T B 0 W E 984 © 7

(1) sAtTEeE foerr At

(2)  Torrl &g F= FeE FEE

(3) Al Fm

(4) ol #Hafe & @M & 9dn
Options:-

.1, Option ID :- 1025,
. 2, Option ID :- 1026,
. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 1, Option ID : -1025

Question ID:- 258

Which one of the tollowing combination can best fulfill the objectives of conducting school assembly?

(i)
(i)
(iif)

FPunishing naughty students

Lveryday reading some part of a classic book
Physical Fitness exercises

Sharing decisions of PTA meetings

Addressing general issues of the school

(11, (ifi) and (v)
(1), (111) and (v)
(i), (i) and (iii)

(i), (i) and (iv)

TE: | &l FeH & 32920 &1 gfd o 7 § 3 =21-11 foeey magw 2rm 2

(1)
(if)
(iii)
(iv)
(v)

()
2)
(3)
&

YT BT afed

ol T gv= A (FAAEA ) TAE F S A9 98T
Afsige foeh gt & o 9w

(i), (ifi) 3T (v)

(i), (i) T (v)

(i), (i1) #AR (iii)

(if), (iii) S (iv)

Options:-

.1, Option ID :- 1029,

. 2, Option ID :- 1030,
. 3, Option ID :- 1031,
. 4, Option ID :- 1032,
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Answer Given:- 1, Option ID : -1029
Question |D:- 259

Which Committee talked of education for humane and enlightened society ?
(1) Raghu Rajan Committee

(2)  Acharya Ram Murti Commuttee

(3} Yashpal Commitee

() Acharva Narendra Dev Committee

OraT 317 Wgg FHE =+ feu foen =1 = f5e [fgfa 7 =502
(1) TS HH

(2) @M=t Tm gfd wrE

(3) T FHHA

(4) HAEH AR 58 FH

Options:-

.1, Option ID :- 1033,

. 2, Option ID :- 1034,

. 3, Option ID :- 1035,

. 4, Option ID :- 1036,

Answer Given:- 3, Option ID : -1035
Question ID:- 260

Which one of the tollowing does not belong to knowledge domain ?
(1)  Respecting
(2)  Analysing
(3)  Evaluating

(H Informing

721 o % %[ wF T A el T E 7
(1)  #TET ]

(2)  faweT #T

(3)  TFAET FE

(4)  FHFT T

Options:-

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
. 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 1, Option ID : -1037

Subject : GEO_Q81-Q180_PGTGEO
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Question ID:- 261

Lratosthenese, coining the term geography tor the tirst time, belongs to which one of the following
groups of scholar 7

(1)  Arab Scholar

(2} French Scholar

(3)  Roman Scholar

(4)  Greek Scholar

AT ¥ 1 TaReH TAF] 3 a0 SEeq s [AetaEd 1 9 9 9598 F fagm 2/
(1) =T fagrH

(2) % (g
3

(3) A fAEm
(4) T TaEH
Options:-

.1, Option ID :- 1041,

. 2, Option ID :- 1042,

. 3, Option ID :- 1043,

. 4, Option ID :- 1044,

Answer Given:- 4, Option ID : -1044
Question ID:- 262

Which one of the tollowing disciplines has intertace with Geographical thoughts ?
(1) Anthropology

(2) Leonomics

(3)  Thilosophy

(4)  Sociology

-

freAferfad famal § | e 58078 (interface) 9FIo =07 & W € 7

(1) HHAaE
(2) Ao
(3) =T
(4)  THTEE
Options:-

.1, Option ID :- 1045,

. 2, Option ID :- 1046,

. 3, Option ID :- 1047,

. 4, Option ID :- 1048,

Answer Given:- 1, Option ID : -1045

Question |D:- 263
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In which one ot the fulh‘_}wmg Lpochs, modern man appeared on the earth ?

(1)
(2)
(3)
(4)

Holocene
Pleistocens
Pliocene

Miocene

frmfarfaq 7 ° 4, e wgfaF ama g 1 feas fean?

(1)  #Af9a

(2) A

(3) #fa T

(4)  HeHddH
Options:-

.1, Option ID :- 1049,
. 2, Option ID :- 1050,
. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 2, Option ID : -1050

Question ID:- 264

Which one of the earth’s layers is in liquid state ?

(1)
(2)
()
(4)

Crust
Outer core
Inner core

Upper most mantle

et F AdEl 7 W FE-G WA AGE H § 2

Options:-

.1, Option ID :- 1053,
. 2, Option ID :- 1054,
. 3, Option ID :- 1055,

. 4, Option ID :- 1056,
Answer Given:- 3, Option ID : -1055

Question ID:- 265
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A large body ot magmatic material cools in the deeper depth of the crust forming large dome is
termed by which one of the tollowings ?
(1) Caldera

(2) Sills
(3) Batholith
(4) Dvke

e T 7214 =1 79 02 9 o2t # aifas TR | 22 2 99 A Fadl ©, 41 39 fAerdiEd 4 9 FY
AT 1 S 2 ?

(1) waemE §e

(2) fae

(3) =y

(4) =E

Options:-

.1, Option ID :- 1057,

. 2, Option ID :- 1058,

. 3, Option ID :- 1059,

. 4, Option ID :- 1060,

Answer Given:- 3, Option ID : -1059
Question ID:- 266

Name of the minor plate located between South America and Pacific Plate ?
(1)  Cocos Plate

(2) Nazca Plate

(3)  Arabian Plate

()  Phillippine Plate

et 37T 3R 99 w2 % 9= fRE 219 W AW ¥
1)  HIEHY =2
(2)  FASEH w2

—

(3)  fEE wRr
(4) THfaum w2

Options:-

.1, Option ID :- 1061,

. 2, Option ID :- 1062,

. 3, Option ID :- 1063,

. 4, Option ID :- 1064,

Answer Given:- 4, Option ID : -1064

Question ID:- 267
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Which one of the tollowing is the important characteristic of Mid-Atlante Ridge ?
(1)  Divergent boundary

(2)  Convergent boundary

(3 Subduction zone

(4)  Transtorm boundary

freferfad 5 | w1 | 59 Il ®ed & Heea o oy 2 7
(1) SATHE Him

(2) Al HiA

(3) ufEEa &

(4)  EHiEE Him

Options:-

.1, Option ID :- 1065,

. 2, Option ID :- 1066,

. 3, Option ID :- 1067,

. 4, Option ID :- 1068,

Answer Given:- 1, Option ID : -1065
Question ID:- 268

Which one of the tollowing landmasses was NOT the part of Gandwanaland ?
(1)  Africa

(2)  Madagascar

(3)  Australia

(4 Siberia

FAfAREd sFEe | o A H Tsaei S &1 500 78 =1 7

(1) =A%H

(2) HEFTEL
(3) :q-mm )
(4) HEEfE
Options:-

.1, Option ID :- 1069,

. 2, Option ID :- 1070,

. 3, Option ID :- 1071,

. 4, Option ID :- 1072,

Answer Given:- 4, Option ID : -1072

Question ID:- 269
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In which of the tollowing climatic regions, the depth of weathered materials is maximum ?
(1)  Tundra

(2) Steppe

(3)  Tropical forest

(4)  Desert

-

freAferfad Seremr] el § H 8 o s1ieri[ gerel &0 TeE A Ewan gh g

(1 %3

(2) =l

(3) 91 RfEEHE T
(4)  HEMA

Options:-

.1, Option ID :- 1073,

. 2, Option ID :- 1074,

. 3, Option ID :- 1075,

. 4, Option ID :- 1076,

Answer Given:- 3, Option ID : -1075
Question ID:- 270

Which one of the tollowing is NOT involved in exogentic torces ?
(1) Erosion

(2)  Metamorphism

(3)  Transportation

() Deposition

fefefEa § 9 =1 9 9@ 9o § J0Hied T8 6 2

(1) #TEA
(2) TG
(3) witEed
(4) e
Options:-

.1, Option ID :- 1077,

. 2, Option ID :- 1078,

. 3, Option ID :- 1079,

. 4, Option ID :- 1080,

Answer Given:- 1, Option ID : -1077

Question ID:- 271
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Which one of the tollowing statements is NOT correct about the process of soil formation ?
(1) Parent material is passive control factor in soil formation.

(2)  Sois will be thin on steep slopes.

(3)  Humus accumulation in cold climates is fast due to fast bacterial growth.

(4)  Dead plants provide humus to soil.

a1 o 5 i 3w o frfaiEa w0 0w W wd A g
(1) g1 FAm o g 99 U [l FEEaF #EE
(2)  digerel 9t gaT faell (thin) 8@ 1

(3) 221 FeaT H FHE ThE A g g, i ael gt gfs d 2 2

Options:-

.1, Option ID :- 1081,

. 2, Option ID :- 1082,

. 3, Option ID :- 1083,

. 4, Option ID :- 1084,

Answer Given:- 1, Option ID : 1081

Question ID:- 272

Which one of the tollowings is a characteristic ot old stage of landscapes developed by running
water ?
(1)  Streams meander freely over vast flood plams
(2} Shallow V-shaped valleys
(3} Waterfalls and rapids

(4) V-shaped deep valleys

fAfeiEa # 9 #F 91 Taeeie 90 gH FHEd g5 Teed & e €7
(1) g =g = H=mf o =@ gg =2 fawd

(2) U V- SER I A

P g
| =3

(3)  STergdrd F ety
(4) V- AR H TR A

Options:-

.1, Option ID :- 1085,

. 2, Option ID :- 1086,

. 3, Option ID :- 1087,

. 4, Option ID :- 1088,

Answer Given:- 4, Option ID : -1088

Question ID:- 273
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Which one ot the tollowing statements is correct about Point bars ?

(1) They are low, linear and parallel deposited ridges along the river banks.
(2)  They are loop-like channels.

(3} They are alluvial fans developed at foothills.

(4)  Thev are formed on concave side of meanders of large rivers.

freferfiad mer o = = w1 76 iR F A H me w7
(1) @ =feal & st 7 fe, s =5 g gedf =+ F6mm g
(2) o SE A 2

(3) @ fifge 0 foefem 20 = |ee 9E §

Options:-

.1, Option ID :- 1089,

. 2, Option ID :- 1090,

. 3, Option ID :- 1091,

. 4, Option ID :- 1092,

Answer Given:- 1, Option ID : -1089
Question ID:- 274

The highest peak Mt. Lverest is an example of which landform ?
(1)  Ciuque

(2) Torn
(3)  Arete
(4 Col

-

A Sl AR A8 UAEE T T = 38 § 7

(1) W=
2) B
(3) =
(4) e
Options:-

.1, Option ID :- 1093,

. 2, Option ID :- 1094,

. 3, Option ID :- 1095,

. 4, Option ID :- 1096,

Answer Given:- 2, Option ID : -1094

Question ID:- 275
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Which one of the followmyg landforms offer the hrst defence agamst tsunanu ?
(1)  barrier

(2} beach dune

(3)  ott-shore bars

(-H man gnw oS

- . 5 -,

frefefaa y-amfaa 4 5 @@ 9 A & 999 F949 980 9499 F4dl o 7
(1) T

(2)  fer

(3)  #TAZ W EE A

(4) U=

Options:-
.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,
. 4, Option ID :- 1100,
Answer Given:- 4, Option ID : -1100
Question ID:- 276
Radio waves transmitted trom the earth are reflected back to the earth by which one of the following
lavers of atmosphere 7
(1) Stratosphere
(2)  Troposphere
(3)  Mesosphere

(4)  lonosphere

At | TN d24 0 arHed &1 FeEtaiad § H 50 T 3 mEiad 2 F 37 gea TS § 7
) ElC
2)  AHEA
) HEAHE
)

Options:-

.1, Option ID :- 1101,

. 2, Option ID :- 1102,

. 3, Option ID :- 1103,

. 4, Option ID :- 1104,

Answer Given:- 2, Option ID : =1102

Question ID:- 277
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Which one ot the following will be the angle of Sun ravs at Tropic of Capricorn when the sun is
overhead at Tropic of Cancer ?

() 47°
(2) 6A1°
(3)  43°
(4) 2317

T T Fek TF T eadd © dl T a1 T A & S s # 0 fAefeiEn § 9 F 6 =91 E 2

(1y 477
(2)  Hole”
{(3) 43°
(4) 23W°
Options:-

.1, Option ID :- 1105,
. 2, Option ID :- 1106,
. 3, Option ID :- 1107,
. 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105
Question ID:- 278
Which one of the tollowing statements is NOT correct about the tactors controlling the temperature
of air at any place ?
(1)  Compared to sea, land heats up and cools down slowly.
(2)  The places near the sea-level record higher temperature.
(3)  The temperature generally deereases with increasing height.

(4)  Compared to land the sea gets heated slowly and looses heat slowly.

freferfas ol o 9, #[ = fwg = W 97 F G A w5 9w F A TR e E 2
(1) =g &l qetdn J wger =i ad s d21 e 21

(2) HYE-ae & UH & TE W AEE SAGE w6

(3)  ATIHME FHFEA: S5 Jd b HY =2l 2

(4)  TUE I G | g - s -t Ju A 2

Options:-

.1, Option ID :- 1109,

. 2, Option ID :- 1110,

. 3, Option ID :- 1111,

. 4, Option ID :- 1112,

Answer Given:- 1, Option ID : -1109

Question ID:- 279

pgtprime.com



The highest range of temperature between January and July is recorded over :
(1)  Central-Africa

(2)  North-eastern part of Asia

(3)  Interior part of Austrahlia

(4) Coastal part of Canada

A HF AT A HA T s e Sl
(1) =% A H |

(2)  uferEn HeE & e Al HE

(3)  SELTEr o i A |

(4)  ATE] & d20" arH |

Options:-

.1, Option ID :- 1113,

. 2, Option ID :- 1114,

. 3, Option ID :- 1115,

. 4, Option ID :- 1116,

Answer Given:- 1, Option ID : -1113
Question ID:- 280

In which part ot the world, temperature inversion is normal throughout the vear ?
(1)  Equatorial areas.

(2) Desert areas.

(3)  Tmmer areas of continents.

(4) Polar areas.

fava & ffd M § 99 W a99H FHoE A 96 © 7
(1) Tagerem =i )

(2)  TEREEA A3 )

(3) TR F A A |

(4) AP E= )

Options:-

.1, Option ID :- 1117,

. 2, Option ID :- 1118,

. 3, Option ID :- 1119,

. 4, Option ID :- 1120,

Answer Given:- 3, Option ID : -1119

Question ID:- 281
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Due to which one of the tollowing reasons, maximum insolation is received over the subtropical
deserts ?

(1) Due to slant sun rays in these regions.

(2} Here the cloudiness is the least.

(3) The length of days is shorter here.

(4) Due to advecton process.

AT FHizAsTE Heee H FEias Jaad Feead O H e S0 e §

(1) = &=1 § 97 =i faws! fmi & &)
(2) @ HErE Hed e ] S 2
3)

( 77 fos &1 o Bl 2l 2
(1) ANEET AFEE F BRI

Options:-

.1, Option ID :- 1121,

. 2, Option ID :- 1122,

. 3, Option ID :- 1123,

. 4, Option ID :- 1124,

Answer Given:- 2, Option ID : -1122
Question ID:- 282

Which one of the followings is the average temperature of the earth at sea-level ?
(ny 11.2°C
(2) 53.2°C
(3)  15.2°C
(4 17.2°C

TE- e T g F1 #HE a9 At F wmE W 2

(1) 11.2° 94,
2y 13.2°7.
(3)  15.2° 9.
(4) 17.2°9H.
Options:-

.1, Option ID :- 1125,

. 2, Option ID :- 1126,

. 3, Option ID :- 1127,

. 4, Option ID :- 1128,

Answer Given:- 3, Option ID : -1127

Question ID:- 283
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In which one of the tollowing directions the wind blows at the equator ?
(1)  Perpendicular to the isobars

(2) Lasterlies

(3 Waesterlies

(4) North-East

e = 91 vae frafafaa fw o o == 5 7

(1) H9=m@ & & JHE T

(2) ol we
S EERCE]
(4) I0-gdl
Options:-

.1, Option ID :- 1129,

. 2, Option ID :- 1130,

. 3, Option ID :- 1131,

. 4, Option ID :- 1132,

Answer Given:- 3, Option ID : -1131
Question ID:- 284

[dentity the correctly matched pair ot cell and its region ot circulation ?

(1)  Hadley cell - Polar region
(2) Hadley cell - Temperate region
(3)  Walker cell - Polar region
(4)  TFerrel cell - Temperate region

(2) E=E R - AEO A7
(3) AL B - AT A

Options:-

.1, Option ID :- 1133,

. 2, Option ID :- 1134,

. 3, Option ID :- 1135,

. 4, Option ID :- 1136,

Answer Given:- 4, Option ID : -1136

Question ID:- 285
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Which one of the tollowing fronts of temperate cvclone 1s assoctated with rainfall and snowtall ?
(1) Cold front

(2) Stationary tront

(3 Warm front

(4 Occluded front

Teferfaa siam Sizaa =Twad & {53 9y & 97y au) 37 fZaay 7=iE € 7
(1) 9ifd =

(2) 1 A1

(3) T AT

(4)  sAfHfEg =@y

Options:-

.1, Option ID :- 1137,

. 2, Option ID :- 1138,

. 3, Option ID :- 1139,

. 4, Option ID :- 1140,

Answer Given:- 1, Option ID : -1137

Question ID:- 286

The tropical cyclones originating in the Atlantic ecean are known as :
(1)  Hurricanes

(2)  Typhoons

(3)  Willy-willies

(4  Cyclones

STANZF TElHATE T 309 B Al 9] F2asd FEadl & Fel 969 & ¢

(1) &#A

(2)  ZTRA

(3) faer-fe=
(4)  HhAI
Options:-

.1, Option ID :- 1141,

. 2, Option ID :- 1142,

. 3, Option ID :- 1143,

. 4, Option ID :- 1144,

Answer Given:- 3, Option ID : -1143

Question ID:- 287
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Which one of the tollowings forms on cold surfaces when condensation takes place below freezing
point temperature ?

(1) Dew

(2} Fog
(3) Frost
(4) Clouds

fraferfes 9 7 Fm W 3 7ae W 99a F 90d 9 9 FY e T e F w9 E 2

(1y #mH
(2) BT
(3) TR
(4) ==
Options:-

.1, Option ID :- 1145,

. 2, Option ID :- 1146,

. 3, Option ID :- 1147,

. 4, Option ID :- 1148,

Answer Given:- 3, Option ID : -1147
Question ID:- 288

Identity the correct pair of cloud and its description.

(1)  Stratus - teathery appearance
(2)  Nimbus - black and dark gray
(3)  Cirrus - look Iike cotton wool
(4 Cumulus - lavered clouds

™ 3T 39k 99 & HHIAd g7 F1 98 i |
(1) =0 W9 - 78 % T Tdd 2 2 |

(2)  FEET - FE 2 TR A TR R B
(3)  TE TE - %2 H9AE e €

(4)  wuHl HE - gl WY

Options:-

.1, Option ID :- 1149,

. 2, Option ID :- 1150,

. 3, Option ID :- 1151,

. 4, Option ID :- 1152,

Answer Given:- 4, Option ID : -1152

Question |D:- 289
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Which one ot the tollowings is the normal lapse rate of temperature in the troposphere ?

(1) 9.5°C/km
(2) 8.5°C/km
(3 7.5°C/km
(4) 6.57C/km

(.57 Il/’ﬁ!-?ﬁ

Options:-

.1, Option ID :- 1153,

. 2, Option ID :- 1154,

. 3, Option ID :- 1155,

. 4, Option ID :- 1156,

Answer Given:- 4, Option ID : -1156
Question ID:- 290

Which one of the followings Koeppen's climate types is charcterised by no dry season with warm
and cool summer ?

(1) Ctb
(2} BSk
(3)  BWh
(4) EF

At ®UA & Soarg TR & H T UF % @0 505 Ok F5 Tel, S0 a1 e U 2 & 2

(1y Ctb
(2)  BSk
(3)  Bwh
(4) EF
Options:-

.1, Option ID :- 1157,

« 2, Option ID :- 1158,

. 3, Option ID :- 1159,

. 4, Option ID :- 1160,

Answer Given:- 2, Option ID : -1158

Question ID:- 291
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Higher salinity is recorded in the North Sea due to which one of the tollowing ?
(1) Due to high evaporation.

(2)  Due to influx of river waters m large quantity,

(3} Due to more salime water brought by the North Atlanbic Drift,

(4)  Due to mflux of melted water from the Artic ocean.

I HEE H e Aama eAfarEd 0 5 feas w5 g6 g 7

T AT o I |

(1)

(2)  =gd A4 A= H Al & 9l & YEY] & B |

(3) I ST FAE F R @0 T ek w0 e % hE |
)

siehfzen Wz okl T0eedl 2371 Siel @1H o s |

Options:-
.1, Option ID :- 1161,
« 2, Option ID :- 1162,
. 3, Option ID :- 1163,
. 4, Option ID :- 1164,
Answer Given:- 2, Option ID : -1162
Question ID:- 292
Which one of the tollowings is the general rate of decrease of ocean surtace temperature from
equator towards poles ?
(1) 03°C/latitude
(2)  0.53°C/latitude
(3) 08 C/latitude
(4)  L1"C/latitude

o _r-

fooad T § a1 ®i AR FHE T8 o ool F AIHAE F w2 F " ol [ § H wE W E 7
(1) 0.3 H./stam
(2) 0.3 A28
(3) 0.8 H./ 5w

(4)  1.1° 93

Options:-

.1, Option ID :- 1165,

. 2, Option ID :- 1166,

. 3, Option ID :- 1167,

. 4, Option ID :- 1168,

Answer Given:- 2, Option ID : -1166

Question ID:- 293
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Which one of the tollowings is a Hat topped submerged seamount ?
(1) Atoll

(2)  Guyot

(3)  Seamount

(4)  Submarme Canvon

fr=feafEa © 9 - v =92 fomen g Sow= J9g) Fen e ?

(1) wae 5
(2) a5 g

(3) TR e

(4)  SeHE EaEDE

Options:-

.1, Option ID :- 1169,

. 2, Option ID :- 1170,

. 3, Option ID :- 1171,

. 4, Option ID :- 1172,

Answer Given:- 2, Option ID : -1170
Question ID:- 294

In which ene of the tellowings, the water particles only travel in a small circle ?
(1)  Tides

(2)  Ocean currents

(3)  Surges

()  Waves

.

fFeAfertEd 5 5, s a0 912 gaeE 9 H 2 11d #:d ¢

(1) v
(2)  TETTEA g
(3) B (surges)

(4) i

Options:-

.1, Option ID :- 1173,

« 2, Option ID :- 1174,

. 3, Option ID :- 1175,

. 4, Option ID :- 1176,

Answer Given:- 3, Option ID : -1175

Question ID:- 295
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Identity the country from the following, in which mega diversity centre is NOT located ?
(1)  Netherlands

(2)  Madagascar

(3 China

(4 India

frfefag o @ 39 <7 = U224 &0 f99y 07 fafasa e e @ g 7

(1) FAETeis

(2)  HEFIERL

(3) =

(4)  wd
Options:-

.1, Option ID :- 1177,

. 2, Option ID :- 1178,

. 3, Option ID :- 1179,

. 4, Option ID :- 1180,

Answer Given:- 1, Option ID : -1177
Question ID:- 296

The Kobe-Osaka region of Japan is thickly populated. The basic reason of this is :
(1) TFertlesoils

(2) Presence of a number of mdustries

(3)  Tavourable landscape

(4 Government offers ncentives

ST 1 - STHE] To9] ToA 961 541 © | 39 7A 0
(1) S e

(2) @ FEE F I

(3) TRl ORI

Options:-

.1, Option ID :- 1181,

« 2, Option ID :- 1182,

. 3, Option ID :- 1183,

. 4, Option ID :- 1184,

Answer Given:- 2, Option ID : -1182

Question ID:- 297
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In the crude birth rate formula,

B )
CBR = ?' x 1000 ; I stands for :
(1) Population of the area on 31t December
(2)  Population of the area on 1°" January
(3)  Population of the area on 1°% April

(4)  Mid-year Population of the area

sTHUNA 5 57 (CBR) % 43 CBR = % X 1000, 25 ‘P’ o ek febal wiidl 2

(1) T#t a3 7 31 foadar & S
(2) sl &3 5 1 e T SAEE
(3) T w13 o 1 20E F IEAE
(4) TosT a3 W Ad & me & e

Options:-

.1, Option ID :- 1185,

. 2, Option ID :- 1186,

. 3, Option ID :- 1187,

. 4, Option ID :- 1188,

Answer Given:- 3, Option ID : -1187

Question ID:- 298

The increase of world population from 3 billion to 4 billion took which one of the following durations ?

(1) 15 vears
(2) 30 years
(3) 100 years
(4 50 vears

fa9d &l AHE SHEA 3 370F H 4 370F OF dgd 1 Feaigd 3§ |9 &4 d 5395 70 7

(1) 1534
(2) 309
(3) 100 =
(4) 50=M
Options:-

.1, Option ID :- 1189,
. 2, Option ID :- 1190,
. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 3, Option ID : -1191
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Question |D:- 299

Which one of the tollowing approaches to human development was initially proposed by the
Internaticnal Labour Organisation 7

(1) Income Approach

(2} Welfare Approach

(3)  Basic Needs Approach

(4)  Capability Approach

O o & FefaEa S9eHl | H, &iE A Ta $9 | AG8E g5 WeA 1 geangd e a7

(1) =/ 2
(2) I TAH

(3) SR HEvEERA
(4) &N SATH

:

Options:-

.1, Option ID :- 1193,

. 2, Option ID :- 1194,

. 3, Option ID :- 1195,

. 4, Option ID :- 1196,

Answer Given:- 3, Option ID : -1195
Question ID:- 300

The age-sex pyramid ot which one of the following countries is bell-shaped ?
(1) Nigeria

(2)  TJapan

(3)  India

(4 Australia

ﬂ“izl‘;' qgi %ﬁ?ﬁﬁ-‘g, [P:h:q\ = m—fﬂ.—” :H rla'ﬂ?,:réﬁu:l:' ’_JJIEET% 7

-~

(1y  resitten
(2) S
(3) WA

Y

(4) @Rl

Options:-

.1, Option ID :- 1197,

. 2, Option ID :- 1198,

. 3, Option ID :- 1199,

« 4, Option ID :- 1200,

Answer Given:- 1, Option ID : -1197

Question 1D:- 301
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Which one of the tollowings is the sub-field ot Social Geography ?
(1)  Resource geography

(2)  Medical geography

(3)  Agriculture geography

(4 Industrial geography

freferfaa ¥ 1, =0 =1 JmifseE e & 39-4203 2 7
(1) HH=A e

(2) T=fwe o

(3) e

(4) A

Options:-

.1, Option ID :- 1201,

. 2, Option ID :- 1202,

. 3, Option ID :- 1203,

. 4, Option ID :- 1204,

Answer Given:- 3, Option ID : -1203
Question ID:- 302

Which one of the tollowings is the characteristics ot first stage of demographic transition ?
(1) High fertility and high mortality

(2)  THigh fertility and low mortality

(3)  Low tertility and low mortality

(4)  Low fertility and high mortality

SRR FRAT o GUH ST A feegd § 0 R S 7
(1) == UeFeied 3R 39 Hoadl
(2) T e @R fre oer

(3) T gereiea @R e wea

(4) 99 gsrmiier =T 3= "ea

Options:-

.1, Option ID :- 1205,

. 2, Option ID :- 1206,

. 3, Option ID :- 1207,

« 4, Option ID :- 1208,

Answer Given:- 1, Option ID : -1205

Question ID:- 303
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In high latitude zones, tood gathering is practised in
(1) Amazon basin

(2)  Tropal Africa

(3)  Northern Canada

() TPapua New Guinea

T A H TS HIE T e e 2
(1) == dfea

(2)  IwiRfesEE Sl

(3) I AR

(4)  9rgsn =g

Options:-

.1, Option ID :- 1209,
« 2, Option ID :- 1210,
. 3, Option ID :- 1211,
. 4, Option ID :- 1212,
Answer Given:- 3, Option ID : -1211

Question ID:- 304

The slash and burn agriculture is known by which one of the tollowings in Central America ¢

(1) Thuming
(2)  Ladang
(3)  Tamrai
(4)  Milpa

T U § o U8 ged F19 &1, Fetatad § 9 9F g1 9 s 6 7

(1) =
(2) F=M
(3) T
(4) Toew
Options:-

.1, Option ID :- 1213,

. 2, Option ID :- 1214,

. 3, Option ID :- 1215,

. 4, Option ID :- 1216,

Answer Given:- 2, Option ID : -1214

Question ID:- 305

>
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Which one of the tollowing regions of commercial dairy farming is the largest in the world ?
(1)  South-Lastern Australia

(2)  North-Western Europe

(3)  New Zealand

(4 Canada

fawa o =mftr =30 #0193 g2 a6 fafafEa g s 2A @ e ?
(1) =fam-at Aegfe

(2)  IR-uEEHT

(3) et

(4) T

Options:-

.1, Option ID :- 1217,

« 2, Option ID :- 1218,

. 3, Option ID :- 1219,

. 4, Option ID :- 1220,

Answer Given:- 1, Option ID : 1217
Question ID:- 306

Mumbai’s Dabbawala (tiftin) activities come under which one ot the tollowings ?
(1) Primary activities

(2)  Secondary activities

(3)  Tlertiary activities

()  Quaternary activities

e

gt F Tearanen (fie) =1 T, Fefatas § 7 fFF oo om & 7
(1) W S
(2) fgAraw fd
(3) A R
(4) =aEE T

Options:-

.1, Option ID :- 1221,

. 2, Option ID :- 1222,

. 3, Option ID :- 1223,

. 4, Option ID :- 1224,

Answer Given:- 2, Option ID : -1222

Question ID:- 307
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Which one of the tollowings is a personal means of communication ?
(1) Radio

(2) Television

(3)  Email

(4) Newspaper

freaferfaa & 9 #m =1 =l grH=n & 79T 2 7

(1y e
(2) e
(3) =H&
(4)  THER
Options:-

.1, Option ID :- 1225,

. 2, Option ID :- 1226,

. 3, Option ID :- 1227,

. 4, Option ID :- 1228,

Answer Given:- 3, Option ID : -1227
Question ID:- 308

Which one of the tollowings is ‘Gold color” worker ?
(1) Consultants

(2) Bank officials

(3)  Insurance service providers

()  Computer operators

fAatafEa ° 7 %@ @ =0 wlen ghE § 7
(1) TR

(2) Al

(3) =T EA =

(4) T A

Options:-

.1, Option ID :- 1229,

. 2, Option ID :- 1230,

. 3, Option ID :- 1231,

. 4, Option ID :- 1232,
Answer Given:- 1, Option ID : -1229

Question ID:- 309
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Which one ot the tollowings, does NOT involve quarternary activity ?
(1)  Collection of information

(2)  Production of mformation

(3)  Dhssemination of nformation

(4)  Dealing in banking services

-

freaferfaa © |, fred =4 e gfmfaa 98 £ 2
(1) == 1 s
{2) \_‘q T =Rl 3=

(3)  HAA I WER
(4)  dfeba Hansii 9 gy

Options:-

.1, Option ID :- 1233,

. 2, Option ID :- 1234,

. 3, Option ID :- 1235,

. 4, Option ID :- 1236,

Answer Given:- 3, Option ID : -1235
Question ID:- 310

Highly mechanised, high per person yield but low per acre vield is associated with which one of
the following types of agriculture ?

(1) Intensive subsistence agriculture

(2}  Lxtensive comumercial grain cultivation

(3)  Mixed farming

4 Primitve subsistence agriculture
L [}

HHATIF HOHFRI0, T ia Ao 3991 T F1 T Uhe 299, Feraiad F10 & 9 768 9 Jw=-0
9
C !

(1) 1 902 &l
(2) T AR s i
(3) Tafga

Options:-

.1, Option ID :- 1237,

. 2, Option ID :- 1238,

. 3, Option ID :- 1239,

. 4, Option ID :- 1240,

Answer Given:- 2, Option ID - -1238

Question ID:- 311
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[dentity the correct descending sequence (large scale to small scale) of tollowing maps :
(1)  Topographical map - Atlas map - Wall map - Cadastral map
(2)  Wall map - Atlas map - Cadastral map - Topographical map
(3} Topographical map - Cadastral map - Wall map - Atlas map

(4) Cadastral map - Topographical map - Wall map - Atlas map

-

freferfad amfaE] o W8l S90E] %0 (F2d 99491 J 9 91941 ) B T2=9 w0

(1)  Ferpias FHfEE-u2eay qet=E- v aEtEE- gy aEEs

(2)  Tufe wefeE-veera wrf=s- syl et qaf—e

(3)  TuElFids AE=E-gHIE wEEs-TaiE aEE-wzerd aEfas

(4)  HY AT TR faes A= il aEiEe - uZed qEfEs

Options:-

.1, Option ID :- 1241,

. 2, Option ID :- 1242,

. 3, Option ID :- 1243,

. 4, Option ID :- 1244,

Answer Given:- 3, Option ID : -1243
Question ID:- 312

Which one ot the tollowing instruments is used to calculate area on a map ?
(1) Rotameter

(2) Anemometer

(3)  Planimeter

()  Hvgrometer

P

FAferEd e ST &1 S9a HEEE T &R 01 o Rl S 8 7

(1) T
(2)  UATHE
()
(4) @B
Options:-

.1, Option ID :- 1245,

. 2, Option ID :- 1246,

. 3, Option ID :- 1247,

. 4, Option ID :- 1248,

Answer Given:- 3, Option ID : -1247

Question ID:- 313
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At which one ot the following longitudes it will be 6 am., when the time at Greenwich is 1 p.m. ?
(1) 75°W

(2) 105" W

(3 75" E

(4) 105" E

fAmfafEd fF9 Sora ™ @8 F 6 99 2 94 (079 (Greenwich) ™ 0T AR 1 79 2 |

(1y 75" 1
(2) 105" ™
(3) 737
(4 10579
Options:-

.1, Option ID :- 1249,

. 2, Option ID :- 1250,

. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251
Question ID:- 314

Which one ot the tollowing projections is drawn when the source ot light is placed at intinity
distance from the globe ?
(1)  Orthographic

(2}  Gnomonic

(3)  Stereographic

(4) Mercator

freferfied T 9am =1 971 979 = ) TEE 9 s 73 T TgE R ST § 7
(1) TR Fa

(2)  ATHIE F5

(3) fafam warg

(4)  Hehel yaM

Options:-

.1, Option ID :- 1253,

. 2, Option ID :- 1254,

. 3, Option ID :- 1255,

. 4, Option ID :- 1256,

Answer Given:- 3, Option ID : -1255

Question ID:- 315
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Which one of the followings represents the latitudinal and longitudinal coverage of a topographical
map on 1 50,000 scale ?

(y 1"x1°

(2)y 15" =15

(3) 157 x7'307

(4) 30" x 20

fan

fefafEd @ =1 @Eg 79 S9maE @R 1:50,000 T & T ias TrEs &1 G59d Fidl 6 7
(_'1) 1= 1"

(2} 15 %15

(3) 15 730"

(4) 30 %30

Options:-
.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,
. 4, Option ID :- 1260,
Answer Given:- 3, Option ID : -1259
Question ID:- 316
In a standard False Colour Composite (FCC) image, which one of the tollowing colours is assigned
to nfrared radiation ?
(1) Viwolet
(2} Green
(3)  Red
(4) Blue

TR TEF A T (UF | A TarE o wrete fasm i R fefatEa e g SR G e e 2
(1) =

(2) =4

(3) @

(4) Al

Options:-

.1, Option ID :- 1261,

. 2, Option ID :- 1262,

. 3, Option ID :- 1263,

. 4, Option ID :- 1264,

Answer Given:- 1, Option ID : -1261

Question ID:- 317
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Which one ot the tollowing towns is not correctly matched with its functonal class ?

(1)  Administrative Town - Chennai
(2) Cultural Town - Varanasi
(3} Mining, Town - Dhanbed
(4) Recreation and Health Town - Broken Hill

-

freaferfad =l | & | yE s 7 W HE HHied 76 ¢

(1) womEAR 1 - =

(2)  HiERldE FH - SR

(3) T TE - 99AE

(4)  HASA UF R FE - s (e

Options:-

.1, Option ID :- 1265,

. 2, Option ID :- 1266,

. 3, Option ID :- 1267,

. 4, Option ID :- 1268,

Answer Given:- 4, Option ID : -1268
Question ID:- 318

Which one of the tollowing percentages is for present world urban pepulation ?
() 33%
(2) 45%
(3} 56"%

(4 48%

L&

fr=ferfad gfaeml 5 9 9 91 ga0[ | 999 &1 THEE SHEE 1 qiaaiee w8 e

(1) 33%
(2} 45%
(3)  36%
(1) 48%

Options:-

.1, Option ID :- 1269,

. 2, Option ID :- 1270,

. 3, Option ID :- 1271,

. 4, Option ID :- 1272,

Answer Given:- 2, Option ID : -1270

Question ID:- 319
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Who applied the term ‘megalopolis’ tor the super-metropolitan region extending as union ot
conurbations ?

(1) Patrick Geddes

(2} Walter Burley Griffin
(3) Le Corbusier

(4) Jean Gottaman

T F A 1 [o5gd 98- HerriiE e & fan e Tmaniies | v & wAn e 2
(1) Tz fifes

(2) et Aol ufwa

(3) @ EEA

(4) S A

Options:-

.1, Option ID :- 1273,

. 2, Option ID :- 1274,

. 3, Option ID :- 1275,

. 4, Option ID :- 1276,

Answer Given:- 1, Option ID : -1273
Question ID:- 320

Which one of the tollowings is NOT an inland port ?
(1) Hoogli

(2)  Athens

(3)  Manchester

(4  Duisburg

e 3 A 7 W s 7

(1) &l
(2) T
(3) AR
(4)  ggHaT]
Options:-

.1, Option ID :- 1277,

. 2, Option ID :- 1278,

. 3, Option ID :- 1279,

. 4, Option ID :- 1280,

Answer Given:- 1, Option ID : -1277

Question |D:- 321
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Which one ot the tollowing Trans-continental railway routes runs through Uspallata Pass ?
(1) Trans - Siberian

(2)  Trans - Canadian

(3 Trans - South American

(4 Trans - Australian

freaferfaa H &7 & TR-HeigiiT Ton wa e 24§ TSl & 7
(1) Oe-=EE

(2)  HHE-FATEgA

(3)  wr-afigul sieEa

(4)  uE- AR

Options:-

.1, Option ID :- 1281,

. 2, Option ID :- 1282,

. 3, Option ID :- 1283,

. 4, Option ID :- 1284,

Answer Given:- 3, Option ID : -1283
Question ID:- 322

Which one of the tollowing regional bloc is correctly matched with its headquarter ?

(1) ASEAN - Banglkok
(2) CIS - Minsk
(3) LU - Vienna
(4 OPEC - Brussels

ffafas fFm awfors T =1 gerea w8 w6 e © 7
(1) A=A - S TF

(2) TR A -THEE

(3) 7 - faF

(4)  FUF - AHH

Options:-

.1, Option ID :- 1285,

. 2, Option ID :- 1286,

. 3, Option ID :- 1287,

. 4, Option ID :- 1288,

Answer Given:- 3, Option ID : -1287

Question ID:- 323
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Rhine waterway is navigable trom Rotterdam to which one of the tollowing places ?
(1)  Basel, Switzerland

(2)  Stuttgart, Germany

(3} Dortmund, Germany

() Nancy, France

24 FHeTH T eien § faefatad 9 o a& 3 ara g 7

Options:-

.1, Option ID :- 1289,

. 2, Option ID :- 1290,

. 3, Option ID :- 1291,

. 4, Option ID :- 1292,

Answer Given:- 2, Option ID : -1290
Question ID:- 324

Which one ot the tollowing statements is NOT correct ?

(1) Big Inch pipeline is in USA.

(2)  Trans-continental Staurt Highway is in Australa.

(3} Alaska Highway extends from Los Angeles to Anchorage in Alaska.

(4 Trans-Canadian Highway links Vancouver and St. John's city.

fefafer d s mFam 78 TE e 7

(1) famig mEeeEa g uEnE fE

(2)  TO-TEEIT T TR s §

(3) TRl T 1 AR @ Ueferd § SEF | TR a6 ¢

(4) UR-TFATEZA oM Shar ST He S AW ] §2a 2 |

Options:-

.1, Option ID :- 1293,

. 2, Option ID :- 1294,

. 3, Option ID :- 1295,

. 4, Option ID :- 1296,

Answer Given:- 1, Option ID : -1293

Question ID:- 325
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Which one of the following sea trade routes is called the “Big Trunk Route” ?
(1) The Northern Atlantic sea route

(2)  Suez canal route

(3)  Panama canal route

(4) The North Pacific sea route

freferfaa fmm =gl 7rf 1 '38g 7% Al #e ST g 7

(1) 1 sHeerllaF g v

(2) = A

(3) T AR A

(4) 0 gwIiE HEETEE HEl HE

Options:-

.1, Option ID :- 1297,

. 2, Option ID :- 1298,

. 3, Option ID :- 1299,

. 4, Option ID :- 1300,

Answer Given:- 4, Option ID : -1300
Question ID:- 326

Which one of the following is the World's largest land-locked harbour ?
(1)  Vishakhapatnam

(2)  San Tranvisco

(3)  Sao Paulo

(4 Maracaibo

fAfeiEa § %M W favs #1 994 72 466s 791 ¢ 7
(1) TewmaEmzT
(2) A TR
(3) T
(4)  HARTFETEED
Options:-
.1, Option ID :- 1301,
. 2, Option ID :- 1302,
. 3, Option ID :- 1303,
. 4, Option ID :- 1304,
Answer Given:- 3, Option ID : -1303

Question ID:- 327
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During which one of the tollowing years General Agreement for Taritts and Trade (GATT) was
transtormed into World Trade Organisation (WTO) ?

(1) 1948

(2) 1987

(3) 1995

(4) 1998

) fn

T W2 B 20F U2 228 (GATT) 1 B9 fava &me T7ea  (WTO) F =9 1 fetafEa 9 39
s

(1) 1948

(2) 1987

(3) 1995
(4) 1998
Options:-

.1, Option ID :- 1305,

. 2, Option ID :- 1306,

. 3, Option ID :- 1307,

. 4, Option ID :- 1308,

Answer Given:- 3, Option ID : -1307
Question ID:- 328

Kochehi port is located on which one of the tollowing coasts ?
(1) Malabar coast

(2}  Coromandel coast

(3)  Andhra coast

(4)  Odisha coast

frefafEa ¥ A, f99 Tgi-92 ™ it d9aime sEigd §7
(1) FomEn 42

(2) HAMTEA d2

(3) iy 42

(4) feen a2

Options:-

.1, Option ID :- 1309,

. 2, Option ID :- 1310,

. 3, Option ID :- 131,

. 4, Option ID :- 1312,

Answer Given:- 1, Option ID : =1309

Question ID:- 329
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The Tropic of Cancer does not pass through which one ot the tollowing states ot India ?
(1)  Rajasthan

(2)  Tharkhand

(3)  Tripura

(4)  Manipur

e = Taefafad fee =1 5 % T 7@ e 7 7

(1) T=reH
(2) TS
(3) Fgm

(4)  wfoge
Options:-

.1, Option ID :- 1313,

« 2, Option ID :- 1314,

. 3, Option ID :- 1315,

. 4, Option ID :- 1316,

Answer Given:- 4, Option ID : -1316
Question ID:- 330

Karewa is found in which one of the tollowing parts of the Himalayas ?
(1) Kashmir Himalaya

(2)  Himachal Himalaya

(3)  Uttarakhand Himalaya

(4 Sikkim Himalaya

femea & FefdEs fFa amd s I s 8 7
(1)  =FvAn fenem

(2) Temr=a feamers

(3) SWEe feues

(4) TafFERm femmem

Options:-

.1, Option ID :- 1317,

« 2, Option ID :- 1318,

. 3, Option ID :- 1319,

. 4, Option ID :- 1320,

Answer Given:- 2, Option ID : -1318

Question ID:- 331
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Dhaoeladhar mountain range is part of which one of the tollowing mountain ranges ?
(1)  Greater Himalaya

(2)  Lesser Himalava

(3)  Shiwaliks

(4) Trans-Himalaya

ST Tad S fAtAtEa O f59 794 g s e § 2
(1) EED %H G
(2) @ feHer

(3) Toranfer
(4)  2fa-faie

Options:-
.1, Option ID :- 1321,
. 2, Option ID :- 1322,
. 3, Option ID :- 1323,
. 4, Option ID :- 1324,
Answer Given:- 2, Option ID : -1322
Question ID:- 332
Saddle peak, the highest peak of Andaman and Nicobar islands is located in which one of tollowing
islands ?
(1) Great Nicobar
(2}  North Andaman
(3} Middle Andaman
(4)  South Andaman

. P

HASHA T THRMEE 591 i J9H S=1 990, Teo =93 FeEiEd FEage § Fem e 7
(1) ¥ FFEm

(2) I 3T=dE

(3) WA HEHM

(4) el szaH

Options:-

.1, Option ID :- 1325,

. 2, Option ID :- 1326,

. 3, Option ID :- 1327,

. 4, Option ID :- 1328,

Answer Given:- 3, Option ID : -1327

Question ID:- 333
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Gersoppa (Jog) tall is located on which one of the following rivers ?
(1) Juari

(2) Kalinadi

(3)  Brahmani

(4)  Sharavati

TLETT (F1) Fo-99d, FtatEd fe 95 7 saf=eG g ?

(1) =
(2) IR
(3) ==
(4)  wTOAdi
Options:-

.1, Option ID :- 1329,

. 2, Option ID :- 1330,

. 3, Option ID :- 1331,

. 4, Option ID :- 1332,

Answer Given:- 4, Option ID : -1332
Question ID:- 334

According to Koeppen's classitication Uttar Pradesh has mainly which tvpe of climate 7

(1) Cwg

(2) As
(3)  Amw
(4) Dfe

FIIT F TR F TN 0 qo¥l F Soae] TAd: 0 TR & ¢ 7
(1) Cwg

(3 Amw
(4) Dic
Options:-

.1, Option ID :- 1333,

. 2, Option ID :- 1334,

. 3, Option ID :- 1335,

. 4, Option ID :- 1336,

Answer Given:- 3, Option ID : -1335

Question ID:- 335
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The average annual rainfall variability is highest in which one ot the fa]]r_m-'irlg states ?

(1)
(2)
(3)
(4)

Assam
Rajasthan
Meghalaya
Chhattsgarh

g T T°1 & OAidd e Ed [RE T W " 7

(1
(2)
(3)
(4)

;

Options:-

.1, Option ID :- 1337,
. 2, Option ID :- 1338,
. 3, Option ID :- 1339,

. 4, Option ID :- 1340,
Answer Given:- 1, Option ID : -1337

Question ID:- 336

The location of which one of the tollowing Biosphere Reserves is NOT correctly matched ?

(1)
(2)
()
(4)

Nokrek -
Agasthyamalai -
Seshachalam -

Simplipal -

Meghalava
Kerala
Karnataka
Odisha

e et

freAferfera fom <ta avea = & wafeafq =28 gafaa =21 & 2

(1)
(2)
(3)
(4)

q‘: PFL\J\ r‘E — ﬂ fq (a ?]

TS — &

IS - FAZE

feTTa- w Aty

Options:-

.1, Option ID :- 1341,

. 2, Option ID :- 1342,
. 3, Option ID :- 1343,

« 4, Option ID :- 1344,
Answer Given:- 4, Option ID : 1344

Question ID:- 337
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Silver tirs, junipers and rhododendrons trees are common in which one of the tollowing altitudinal
ranges in Himalayas 7
(1) 1000 - 2000 m

(2) 2000 - 3000 m
(3) 3000 - 4000 m
(4) 4000 - 5000 m

~

fermerd o faeay 2, ST a7 Uere=[ 94 Fefatea 9 = 71 5 9= € 7
(1) 1000 - 2000 I,
(2) 2000 - 3000 I,
(3) 3000 - 4000 I,
(4) 4000 - 5000 =T,

Options:-

.1, Option ID :- 1345,

. 2, Option ID :- 1346,

. 3, Option ID :- 1347,

. 4, Option ID :- 1348,

Answer Given:- 4, Option ID : -1348
Question ID:- 338

Which ot the following soils are rich imdiron oxide and aluminium compounds due to intense
leaching ?

(1) Laterite soils

(2} Red soils

(3)  DBlack soils

(4)  Alluvial soils

e et & R frefertad gaist 4 |9 ey oig & e S 990 SeHiay AT & ST 1 2T
7

(1) *EE TEm

(2) @A E

(3) kIl e

(4)  STE e
Options:-

.1, Option ID :- 1349,

. 2, Option ID :- 1350,

. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 1, Option ID : -1349

Question |D:- 339
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Which of the tollowing is commonly added to solve the problem of soil salinity ?
(1)  Gypsum

(2) Urea

(3)  TPotash

(4) Phosphate

7] I = ] HHET F HHEE 2 fatataa | fwa wmrem v e s 7

(1) Fe=m
(2) A
(3) e
(4) iR
Options:-

.1, Option ID :- 1353,

. 2, Option ID :- 1354,

. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 1, Option ID : -1353
Question ID:- 340

Which one ot the tollowing decades represents the International Decade tor Natural Disaster
Reducthion ?

(1) 1990 - 2000

(2} 2000 - 2010

(3) 2010 - 2020

(4) 1980 - 1990

feAferiEd 2o o | FF T WFias ST FA0] & STqipd o9 Je9d Fid © 7
(1) 1990-2000
(2)  2000-2010
(3)  2010-2020
(4)  1980-1990

Options:-

.1, Option ID :- 1357,

. 2, Option ID :- 1358,

. 3, Option ID :- 1359,

. 4, Option ID :- 1360,

Answer Given:- 3, Option ID : -1359

Question ID:- 341
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The Kachchh region of Gujarat falls under which one ot the following earthquake damage risk
zones 7

(1) Low Damage Risk zone

(2} Moderate Damage Risk zone

(3)  High Damage Risk zone

(4)  Very High Damage Risk zone

TS ] Fes A9 ET Alfq SifEg & eeEd e aE W A 2

(1) T afa Sifam am
(2)  HeAH wfd SlEd &5
(3) T3 Afa SEn A

(1) =TEEF =fa Sad ==

Options:-

.1, Option ID :- 1361,

. 2, Option ID :- 1362,

. 3, Option ID :- 1363,

. 4, Option ID :- 1364,

Answer Given:- 4, Option ID : -1364
Question ID:- 342

Frequency of cyclonic storms in India is highest during which ot the following months ?
(1) April - May

(2)  May - June

(3)  TJuly - August

(4 October - November

WA H FFHA! T B AR AAAEd A Hed H "aaE 2
(1) g2
(2) WE-TA
(3) SRS
) TR AT
Options:-
.1, Option ID :- 1365,
. 2, Option ID :- 1366,

. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 3, Option ID : -1367

Question ID:- 343

pgtprime.com



Trans-Himalavan area ot Ladakh and Spiti falls under which one of the tollowing Landslide
Vulnerability zones ?

(1) Very High Vulnerability zone

(2} High Vulnerability zone

(3)  Moderate to Low Vulnerability Zone

(4)  Safe from landslides

I -ferers 43 F oerE vd ot vEees geEe o fefaten T s em € 0
) ACHTEE YRl A

2y SATHE A a9
) HEAH UE FH A AT

(4)  YFFer A HEfEd

Options:-

.1, Option ID :- 1369,

. 2, Option ID :- 1370,

. 3, Option ID :- 1371,

. 4, Option ID :- 1372,

Answer Given:- 1, Option ID : -1369
Question ID:- 344

Which one of the following natural disasters is grouped under atmospheric origin ?
(1) Flood

(2)  Cyclone

(3) Landshde

(4 Avalanche

.

FAferad IFfas MIEisll 9§ fFa® aaHeei™ ok & &9 H J0Fd ha] o & 7

(1) ==

(2) =k

(3)  EECT

(4) fedagerd
Options:-

.1, Option ID :- 1373,

. 2, Option ID :- 1374,

. 3, Option ID :- 1375,

. 4, Option ID :- 1376,

Answer Given:- 2, Option ID : -1374

Question ID:- 345
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Which one ot the tollowing statements is correct ?

(1)
(2)
(3)
(4)

Noise pollution is measured in Dobson units.
Bronchitis disease 1s caused by water pollution.
Urban smog is caused by atmospheric pollution.

Urban solid waste 1s collected and disposed efficiently in non-metropoelitan cittes of India.

freferfad o % 5 Fa we 2 7

(1) A JgHT 1 ST SeRsal H AT S €

(2)  vASTAEl i I S 95 g1 Bl 2

(3) A 99 FE AEAVEE 959U 5 2 |

(4) A 2 9Ty s wEE U H92E qNd & T TR ] syl g6 d |
Options:-

.1, Option ID :- 1377,
. 2, Option ID :- 1378,
« 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

Which one ot the tollowing statements is correct ?

(1) Thabua district is located in Maharashtra.

(2)  Jhabua district has high concentration of Gond tribe.

(3)  InJhabua administration managed Comumon Property Resources without people participation.
(4 Watershed management approach improved livelihoods of people in JThabua.

feferfas W =m = w97 J8 T ¢

(1) 3T foen merg ¥ fem 2

(2)  TA 5 1 7S Fena & 3= HEw

(3)  TEET WEMEA | W A9 WA F 6 5\ AeiT F TEe e

(4)  SToT HYTU YIS SURTH H AT e 2 @ SIS H qHE e |

Options:-

.1, Option ID :- 1381,
. 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 2, Option ID : -1382

Question ID:- 347
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National Waterway no. 3 is operational in which one of the following states ?
(1)  Kerala

(2)  Andhra Pradesh

(3 Odisha

(4  Assam

TP SermT FeA 3 freferad e =9 o T 2 7

.

(1) Im
(2)  S9YEY
(3)  wlfem
(4) A
Options:-

.1, Option ID :- 1385,

. 2, Option ID :- 1386,

. 3, Option ID :- 1387,

. 4, Option ID :- 1388,

Answer Given:- 3, Option ID : -1387
Question ID:- 348

In which vear the satellite IRS - 1A was launched by India ?

(1) 1975
(2) 1983
(3) 1988
(4) 1992

o & T3 99§ 3T 9N UE-99 10 (IRS-1A) 98 1 Fa190 T 7
(1) 1975
(2) 1983

(3) 1988
(4) 1992

Options:-

.1, Option ID :- 1389,

. 2, Option ID :- 1390,

. 3, Option ID :- 1391,

. 4, Option ID :- 1392,

Answer Given:- 1, Option ID : -1389

Question ID:- 349
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Hill Area Development Programme was initiated in which one ot the tollowing Five Year Plans ?
(1) Third

(2) TFourth

(3) Fifth

(4) Sixth

Tad &9 f9ee FEsn w1 FeiatEd fe T=ant T o st = 0 7

(1) qd™
(2)  =d4
(3)
(4) ®Bdi
Options:-

.1, Option ID :- 1393,

. 2, Option ID :- 1394,

. 3, Option ID :- 1395,

. 4, Option ID :- 1396,

Answer Given:- 3, Option ID : -1395
Question ID:- 350

Dalli-Rajhara iron ore mines are located in which one of the tollowing states ?
(1)  Odisha

(2)  Chhattisgarh

(3) Karmataka

() Tharkhand

Tow - ISEY] TIE 319%F e Aeangd 9 T4 | g 21

(1) ==
(2) TAAETE
(3) A
(4) #NEZ
Options:-

.1, Option ID :- 1397,

« 2, Option ID :- 1398,

. 3, Option ID :- 1399,

. 4, Option ID :- 1400,

Answer Given:- 1, Option ID : -1397

Question ID:- 351
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Kakarapura nuclear power project is located in which of the tollowing states ?
(1) Rajasthan

(2) Karnataka

(3)  Gujarat

(4)  Uttar Pradesh

FHTERATE] AT Fodl] IATSAT (AefeiEd fae 79 0 fem 8 7
(1) T

(2) el

(3) T
(4) FH-ugH
Options:-

.1, Option ID :- 1401,

. 2, Option ID :- 1402,

. 3, Option ID :- 1403,

. 4, Option ID :- 1404,

Answer Given:- 3, Option ID : -1403
Question ID:- 352

Due to topographical, hydrological and other constraints which one ot the following percentages
represents the available surface water for utilization in India ?

(1) 60 percent

(2} 48 percent

(3} 32 percent

(4 71 percent

TAIF AE, Foid Ud 37 9] F w0 AeeiEd gl H W &AW, aEd § S9ded Saerd oo

(1) 6 wfdeE

(2) 48 Afged
(3) 32 "fawE
(4) 71 dfaea
Options:-

.1, Option ID :- 1405,

. 2, Option ID :- 1406,

. 3, Option ID :- 1407,

. 4, Option ID :- 1408,

Answer Given:- 1, Option ID : -1405

Question ID:- 353

pgtprime.com



About 90 percent of India’s surtace and ground water is utilised by which one of the following
sectors 7
(1) Agriculture
i)
(2)  Urban
(3)  Power and Industry
(4)  Domestic

~

WA = AT 90 Fiae ST U 9m Se  eieiEd 50 T o suE TR 5§

(L) &M

(2) WA

(3) T T T
(1)

Options:-

.1, Option ID :- 1409,

. 2, Option ID :- 1410,

. 3, Option ID :- 1411,

. 4, Option ID :- 1412,

Answer Given:- 3, Option ID : -1411
Question ID:- 354

Which one of the following river basins is located to the southernmost ?
(1) Krishna

(2) Godavari

(3) Kaveri

(4 Tap:

P

fAfefEd o 99 § | FH [ Sfa0as o | sEiad € 7

(1) F&
(2) e
(3) eI
(4) gl
Options:-

.1, Option ID :- 1413,

. 2, Option ID :- 1414,

. 3, Option ID :- 1415,

. 4, Option ID :- 1416,

Answer Given:- 3, Option ID : -1415

Question ID:- 355
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The Water Cess Act was introduced during which one of the following years ?
(1) 1974
(2) 1977
(3) 1986
(4) 1997

w39 siiytm ) Ffata e =d 9 @ o e

(1y 1974
(2) 1977
(3 1986
(4) 1997
Options:-

.1, Option ID :- 1417,

. 2, Option ID :- 1418,

. 3, Option ID :- 1419,

. 4, Option ID :- 1420,

Answer Given:- 1, Option ID : -1417
Question ID:- 356

Which one of the following statements is correct ?

(1) Neeru-Meeru programme is related to Tamil Nadu state.

(2)  Ralecan Siddhi 1s a small village i Ahmadnagar district of Maharashtra.
(3)  TJal Kranti Abhivan for food security was launched m 2017-18.

(4)  Arvary Pani Sansad is active in alforestation in North Bihar.

frfafaa d A T T @@ g 2

(1) =E-TE FEFET afa g 9 9 521 21

(2)  TerE TAfE medE F YT (9 § UF ge-" M 2
(3) e I ATVAT TR A B 2017-18 § A R T

(4) AR T HEE I e H FAETT | AT §

Options:-

.1, Option ID :- 1421,

. 2, Option ID :- 1422,

. 3, Option ID :- 1423,

. 4, Option ID :- 1424,

Answer Given:- 2, Option ID : -1422

Question |D:- 367
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Which one ot the followings represents Net Sown Area in India during 2014-15 ?
(1)  307.82 million hectare

(2)  140.13 mullion hectare

(3} 15.09 mullion hectare

(4 119.00 mullion hectare

freferfas 5 =0 @ ya # a9 2014-15 1 a1 = 53 # eva 8 7
(1) 30782 fafee =

(2) 14013 TAfep daar

(3)  15.00 e S

(4)  119.00 fafeas g

Options:-

.1, Option ID :- 1425,

. 2, Option ID :- 1426,

. 3, Option ID :- 1427,

. 4, Option ID :- 1428,

Answer Given:- 1, Option ID : -1425
Question ID:- 358

According to FAO Agriculture Statistics India was rank 1 in world production during 2018 in
which ene of the following crops ?
(:\_) Rice

(B)  Wheat

(C)  Tute

(D) Sugarcane

Choose the correct option :

(1) (A (C) and (D)

(2) () and (D)

(3)  Onlv (C)

(4)  Onlv (D)
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TH T =1 (FAQ) F F1T Wiz % AR feiaieEa o was 8§ 959 2018 H fova 39ma § ang 9w
ohH T 7 Y

(A) =&

(B) T

(C) =2

(D) T

(1) A, CdaD
(2) CAAD
(3)  hdd C

(4)  FAG D
Options:-

.1, Option ID :- 1429,

. 2, Option ID :- 1430,

. 3, Option ID :- 1431,

. 4, Option ID :- 1432,

Answer Given:- 2, Option ID : -1430
Question ID:- 359

Which one ot the tollowing Cotton textile industry centres is located in northernmost location ?
(1)  Ujjain

(2) Kanpur

(3)  Aurangabad

(4  Ahmedabad

F=feTiaa Tt 959 320 Fal B H #4 91 Ja0 39 61 A7 Adieq § 7

(1) 37
(2) I
(3)  sAREE
(i\) HeHal=l e
Options:-

.1, Option ID :- 1433,

. 2, Option ID :- 1434,

. 3, Option ID :- 1435,

. 4, Option ID :- 1436,

Answer Given:- 2, Option ID : -1434

Question ID:- 360
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Which one of the following districts 1s NOT in Telangana state ?
(1)  Warangal

(2)  Nalgonda

(3)  Medak

(4) Nellore

frmAferfad o 5 =@ =1 e e T2 o 784 2

(1) =T
(2) el
(3) "E=H
(4) e
Options:-

.1, Option ID :- 1437,
. 2, Option ID :- 1438,
. 3, Option ID :- 1439,

. 4, Option ID :- 1440,
Answer Given:- 1, Option ID : -1437
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